> NIEDAX

SUPPORT

Lightduty p. 212
Universal mediumduty p.217
Mediumduty p. 229
Heavyduty p. 239

SUPPORT

2023 CATALOGUE | 211



@ NIEDAX SUPPORT| LIGHT DUTY

LIGHT DUTY BRACKETS
HOLD DOWN BRACKET - EQU 75X45
W Weight |  Th,
p | Description Code kg/p mm daN
Il 50 | EQU 75x45 EP3 G 613001 | 0.120 3.00 25 @9 x15
] Weight Th. =
p Description Code kg/p mm daN o |
I 50 | EQU 75x45 EP3 HDG 614001 | 0.132 3.00 25 v/
TRCC6x20
For mounting the perforated cable trays, use: O9x15 50
* TRCC Méx12 bolt > EZ 648001, HDG 651001
o Agraftol > S5 555160
For mounting the mesh trays, use: ' '
e GRSM.6 > EZ 703103, HDG 709819 S &7 x25
e KU20 > EZ 552134, HDG 553134 . o { + ,
) I A S R
LIGHT DUTY BRACKET - EQU 90X150
] Weight
p Description Code kg/p daN
Il 50 | EQU90x150 G 613123 | 0.220 20
.’ﬂ Weight
p | Description Code kg/p daN
A 50 | EQU 90x150 HDG 614123 | 0.240 20
For mounting the perforated cable trays, use:
e TRCC Mé6x12 bolt > EZ 648007, HDG 651001 Chemin de cables téle
« Agraftol > S5 555160 (Cable iray) 22,5 - 150 "
) AGRAFTOL
For mounting the mesh trays, use: Z =7 Vo ;
=
e GRSM.é > EZ 703103, HDG 709819 @9 - 125 &=
e KU20 > EZ 552134, HDG 553134 ! o < I w
w| o ‘ =
O o
) B
] I
. 55 _ _21__
[P KU 20 — —'o
-EQU 90x150 w I 32 S F—§ u‘;
[ ~ Chemin de cables fil b LA N @9 e
B (Mesh tray) 1 |
27,5 61

LIGHT DUTY BRACKET - EQU 90X225

21

] Weight
p Description Code kg/p daN
50 | EQU 90x225G 613124 | 0.250 16
Y] Weight
p Description Code kg/p daN
50 | EQU 90x225 HDG 614124 | 0.270 16

For mounting the perforated cable trays, use:
* TRCC Méx12 bolt > EZ 648001, HDG 651001

e Agraftol > S5 555160

For mounting the mesh trays, use:
e GRSM.6 >EZ 703103, HDG 709819

e KU20 > EZ 552134, HDG 553134

2 | 2023 CATALOGUE




@ NIEDAX SUPPORT | LIGHT DUTY
| N-CUSERES

NO - NO1 BRACKETS

] Weight | Th, H. L
p | Description Code kg/p mm mm mm daN
Il 20 [NoG 011001 | 0.110 1.00 93 150 25
20 | NO1G 011002 | 0.150 1.00 93 225 16
] Weight | Th, H. L
p | Description Code kg/p mm mm mm daN
L .
A 20 | NOHDG 011050 | 0.120 1.00 93 150 25 5
20 | N01HDG 011051 | 0.160 1.00 93 225 16 T
For cable trays mounting, use ' 40
* TRCC Méx12 bolt (EZ 648001, HDG 651001) . _,? 25 T 1
« Agraftol (SS 555160) [(Eeees
. I 1
For mesh trays mounting, use C %0 205

» KU20(EZ 552134, HDG 553134, 55316L 555134)
* GRSM.6(EZ 703103, HDG 709819, S5304L 703612)

Conschy N 0 A
(BeackotN n)
- =
% N

4
=

{catlo tray)

CU BRACKETS
] Weight | Th, H. L.
p Description Code kg/p mm mm mm daN
Il 10 |cusoc 011020 | 0.120 2.00 86 86 120
10 | CU1206G 011021 | 0.150 2.00 86 126 90
10 | CU1606G 011010 | 0.190 2.00 86 166 70
10 | CU2406G 011011 | 0.290 2.00 126 246 60
10 | CU3206G 011012 | 0.350 2.00 126 326 40 18525
10 | CU 320x200G 011016 | 0.410 2.00 206 326 40
N} Weight T W L BP TRCC M6X12 HE ~ AGRAFTOL GRSM.6
p Description Code kg/p mm mm mm daN
I 10 | cusoHDG 011022 | 0.130 2.00 86 86 120
10 | CU 120 HDG 011023 | 0.160 2.00 86 126 90
10 | CU 160 HDG 011013 | 0.200 2.00 86 166 70
10 | CU 240 HDG 011014 | 0.300 2.00 126 246 60
10 | CU 320 HDG 011015 | 0.380 2.00 126 326 40
10 | CU 320x200 HDG 011017 | 0.450 2.00 206 326 40
W Weight | Th, H. L.
p Description Code kg/p mm mm mm daN
&I 10 | cu80SS304L 311020 | 0.090 1.50 86 86 120 KU20 -
10 | CU 120 SS304L 311021 | 0.120 1.50 86 126 90 5
10 | CU 160 SS304L 311010 | 0.140 1.50 86 166 70 &
10 | CU 240 SS304L 311011 | 0.210 1.50 126 246 60 3
10 | CU 320 SS304L 311012 | 0.270 1.50 126 326 40
10 | CU 320x200 SS304L 311016 | 0310 1.50 206 326 40 g ) o i
S |
For cable trays mounting, use aT —
* TRCC Mé6x12 bolt (EZ 648001, HDG 651001) 2 !
* Agraftol (SS 555160) _f_
For mesh trays mounting, use s _"'_13.8
o KU20(EZ 552134, HDG 553134, SS316L 555134) 25
« GRSM.6(EZ 703103, HDG 709819, SS304L 703612) 8o agieo &

2023 CATALOGUE | 213



@ NIEDAX SUPPORT | LIGHT DUTY

CCU BRACKETS
Y Weight | Th, A B c
p Description Code kg/p mm mm mm mm daN
I 10 | ccu8sox140x160 G 012349 | 0.279 2.00 86.0 137.0 166 70
10 | CCU 120x180x160 G 012350 | 0.343 2.00 126.0 | 177.0 166 65
10 | CCU 120x260x160 G 012351 | 0.407 2.00 126.0 | 257.0 166 60
10 | CCU 120x180x240 G 012352 | 0.407 2.00 126.0 | 177.0 246 50
10 | CCU 160x260x240 G 012353 | 0.503 2.00 166.0 | 257.0 246 45
10 | CCU 120x340x240 G 012354 | 0.535 2.00 126.0 | 337.0 246 40
W Weight | Th, A B c
p Description Code kg/p mm mm mm mm daN
A 10 | ccu 80x140x160 HDG 012359 | 0.330 2.00 86.0 137.0 166 70
10 | CCU 120x180x160 HDG 012360 | 0.385 2.00 126.0 | 177.0 166 65
10 | CCU 120x260x160 HDG 012361 | 0.450 2.00 126.0 | 257.0 166 60
10 | CCU 120x180x240 HDG 012362 | 0.450 2.00 126.0 | 177.0 246 50
10 | CCU 160x260x240 HDG 012363 | 0.560 2.00 166.0 | 257.0 246 45
10 | CCU 120x340x240 HDG 012364 | 0.590 2.00 126.0 | 337.0 246 40
Y Weight | Th, A B c
p Description Code kg/p mm mm mm mm daN
U 10 | CCU 80x140x160 SS304L 312349 | 0.230 1.50 86.0 137.0 166 70
10 | CCU 120x180x160 SS304L) 312350 | 0.290 1.50 126.0 | 177.0 166 65
10 | CCU 120x260x160 SS304L| 312351 | 0.310 1.50 126.0 | 257.0 166 60
10 | CCU 120x180x240 SS304L| 312352 | 0.340 1.50 126.0 | 177.0 246 50
10 | CCU 120x340x240 SS304L| 312354 | 0.530 1.50 126.0 | 337.0 246 40

* Mounting of cable trays on the outside of the bracket with TRCC M6x12 bolt
* Mounting of cable trays on the inside of the bracket with TRCC M6x30 bolt

CHARGES

c

J

o
11

c2
2181

DESCRIPTION c(DaN) C1(DaN) C2(DaN)

CCU 80x140x160 70 120 75
CCU 120x180x160 65 100 75 / )
CCU 120x260x160 60 100 75 8812 !
CCU 120x180x240 50 100 55 1 I

175 | 40 | 40 | J 1138

CCU 160x260x240 45 70 50 L d

CCU 120x340x240 40 100 55
U 35 PROFILE

W Weight |  Th,

m | Description Code kg/ml mm

ll 2 U 35 13.5x2.00 2M G 015207 0.786 2.00

Suitable for use with AGRAFTOL

214 | 2023 CATALOGUE




@ NIEDAX SUPPORT | LIGHT DUTY

RTU HANGER

RTU HANGERS: use with BS cable tray and a M10 threaded rod, it allows a quick and easy ceiling mounting of your cable tray
thanks to its integrated central nut.

W L | Weight | [§]
p Description Code mm kg/p daN
I 20 | SUSP CENTINT.RTU 48x75 SZ 613442 71 0,144 70
20 | SUSP CENTINT. RTU 48x100 SZ 613443 96 0,166 60
20 | SUSP CENT INT. RTU 48x147 SZ 613445 144 0,194 60
20 | SUSP CENTINT. RTU 48x195 SZ 613447 192 0,233 55
20 | SUSP CENTINT. RTU 48x316 SZ 613450 312 0,253 30 TF M10 EZ

BP TRCC M6x12 EZ

L
SFT BRACKETS

] Weight

p | Description Code kg/p

Il 25 | SFT50-1006G 747050 | 0.200
N} Weight

p Description Code kg/p

0 25 | SFT50-1002ZM 748050 | 0.200
] Weight

p Description Code kg/p

B3 25 | SFT50-100 SS316L 750050 | 0.200

* Reversible bracket for 50 and 100 mm wide cable trays
¢ Use TRCC Méx12 bolt for cable tray mounting
e Lock mesh tray with a screwdriver

Mount directly onto the wall or use a threaded rod (diam.6mm)
for ceiling mounting

—F

-
o
(=]
o
o
2
(2]

2023 CATALOGUE | 215



@ NIEDAX SUPPORT| LIGHT DUTY

OTHER LIGHT DUTY SUPPORTING SYSTEMS
PO OMEGA DISTANCE SUPPORTS

W Weight |  Th, A B c
p | Description Code kg/p mm mm mm mm
Il 10 | PO 40x 80x40x2.50 G 040216 | 0.190 2.50 42.5 85.0 45
10 | PO 40x120x40x2.50 G 040217 | 0.220 2.50 425 | 125.0 45
10 | PO 40x160x40x2.50 G 040218 | 0.250 2.50 425 | 165.0 45 f'-'*"-‘_-_,,_
10 | PO 40x200x40x2.50 G 040219 | 0.280 2.50 42.5 205.0 45 { ;
10 | PO 40x320x40x2.50 G 040222 | 0.380 2.50 425 | 325.0 45 @
10 | PO 40x400x40x2.50 G 040224 | 0.440 2.50 425 | 405.0 45
10 | PO 40x520x40x2.50 G 040227 | 0.530 2.50 42.5 525.0 45
10 | PO 40x600x40x2.50 G 040229 | 0.590 2.50 425 | 605.0 45
[\ Weight | T, A B c
p Description Code kg/p mm mm mm mm
IE! 10 | PO 40x 80x40x2.50 HDG 040230 | 0.200 2.50 42.5 85.0 45
10 | PO 40x120x40x2.50 HDG 040231 | 0.230 2.50 425 | 125.0 45 B
10 | PO 40x160x40x2.50 HDG 040232 | 0.260 2.50 42.5 165.0 45 ; —
10 | PO 40x200x40x2.50 HDG 040233 | 0.300 2.50 42.5 205.0 45 ” ‘ Q' El 1]
10 | PO 40x320x40x2.50 HDG 040236 | 0.390 2.50 425 | 3250 45 A | |48 _
10 | PO 40x400x40x2.50 HDG 040238 | 0.460 2.50 425 | 405.0 45
10 | PO 40x520x40x2.50 HDG 040241 | 0.560 2.50 425 | 525.0 45 L 1x25
= = &> = o
10 | PO 40x600x40x2.50 HDG 040243 | 0.620 2.50 425 | 605.0 45 ‘:’H == 4“‘:“
Stainless Steel and Aluminium finishes on request
SINGLE AND DOUBLE Z CLAMPS
W Weight | Th. 35
p Description Code kg/p mm ~
| | | | | | -
Il 10 | SINGLEZCLAMPG 016051 | 0030 | 2.00 |
‘ 10 | DOUBLE Z CLAMP G 016052 | 0.050 | 2.00 ‘
| 68 - 68 =
o —GRSME I 1
J 85 |
/Y ¥ - i =<
KU 20— | bed - T | - wt e
Chemin de cibie i3 """ u‘_) g o0y ‘_p
Y Chemin ca cabis i {Mesh tray) X o o
(Cable by} 5 | & . o
T2s T B85 J
=
1 t
= o f o
= w,
al w3 i t
w @
& w
=
1 o
A 35 -
1
L 35 =

216 | 2023 CATALOGUE



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

A universal system for both perforated trays
and mesh trays

. UFCO
 Bolt free mounting for mesh trays

PENDARD

e Mount directly onto the wall or ceiling HANGER

» Brackets can be mounted directly on S100U rails
or STRUT 41

» Patented

S100U LONG CHANNELS

i" Weight Th.
m | Description Code kg/ml mm
N 1 | si00u1MG 747107 | 1.190 2.00
S100U 2M G 747110 | 1.190 2.00
S100U 3M G 747111 1.190 2.00
] Weight Th.
m | Description Code kg/ml mm
EN 1 |st00uiMzM 748107 | 1.190 | 2.00
2 S100U 2M ZM 748110 1.190 2.00
3 S100U 3M ZM 748111 1.190 2.00
." Weight Th. Tiga filetée M8 + 2 Ecrous HE MB
m | Description Code kg/ml mm (Thokacad tod 15+ bt We)
553161/ S100U 1M SS316L 750107 | 1.190 2.00
2 | S100U 2M SS316L 750110 | 1.190 2.00
Chemin de cébles tdle
3 | S100U 3M SS316L 750111 | 1.190 2.00 (Cable tray)

e Use TRCC Mé6x12 bolt or AGRAFTOL for mounting cable trays

¢ Lock mesh tray with a screwdriver
BP TRCC MEx12 HE

l./w. 'n_:
56 Tige filetée M8 + 2 Ecrous HE M8
35,5, 50 50_| (Threaded rod M8 + 2 Nut M8) 8
o
i 10014 S <] S o 14 S <14 (P N Y J S ' S . R =
r | m
w0
T
Chemin de cables fil
(Mesh tray)
25 @
P11 == N

\J]

y I ESIEIESH

EHT =) E=)]) ﬁﬂjl:;

¥ o — r—
22" 507 50

2023 CATALOGUE | 217



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

S100U RANGE

S100U SHORT CHANNELS
.’ﬂ Weight Th.
p | Description Code kg/p mm
B 1 S100U 200 G 747101 0.230 2.00
1 S100U 250 G 747102 | 0.280 2.00
1 S100U 350 G 747103 | 0.390 2.00
1 S100U 450G 747104 | 0.490 2.00
1 S100U 550 G 747105 | 0.610 2.00
1 S100U 650 G 747106 | 0.750 2.00
i" Weight Th.
p Description Code kg/p mm
El S100U 200 ZM 748101 0.230 2.00
1 S100U 250 ZM 748102 | 0.280 2.00
1 S100U 350 ZM 748103 | 0.390 2.00
1 S100U 450 ZM 748104 | 0.490 2.00
1 S100U 550 ZM 748105 | 0.610 2.00
1 S100U 650 ZM 748106 | 0.750 2.00
] Weight |  Th,
p Description Code kg/p mm
553 16| S100U 200 SS316L 750101 0.230 2.00
1 S100U 250 SS316L 750102 | 0.280 2.00
1 S100U 350 SS316L 750103 | 0.390 2.00
1 S100U 450 SS316L 750104 | 0.490 2.00
1 S100U 550 SS316L 750105 | 0.610 2.00
1 S100U 650 SS316L 750106 | 0.750 2.00

¢ Use TRCC Méx12 bolt or AGRAFTOL for mounting cable trays

e Lock mesh tray with a screwdriver

S100U SHORT CHANNELS WITH DOUBLE EDGE SLOTS

553161

W Weight |  Th, L.

p Description Code kg/p mm mm
10 | S100U 100 G 747201 | 0.260 2.00 204
10 | S100U 150G 747202 | 0.320 2.00 254
10 | S100U 200 G 747203 | 0.380 2.00 304
10 | S100U 300G 747204 | 0.500 2.00 404
10 | S100U 400 G 747205 | 0.620 2.00 504
10 | S100U 500G 747206 | 0.740 2.00 604
10 | S100U 600 G 747207 | 0.860 2.00 704
W Weight |  Th, L.

p Description Code kg/p mm mm
10 | S100U 100 ZM 748201 | 0.260 2.00 204
10 | S100U 150 ZM 748202 | 0.320 2.00 254
10 | S100U 200 ZM 748203 | 0.380 2.00 304
10 | S100U 300 ZM 748204 | 0.500 2.00 404
10 | S100U 400 ZM 748205 | 0.620 2.00 504
10 | S100U 500 zZM 748206 | 0.740 2.00 604
10 | S100U 600 ZM 748207 | 0.860 2.00 704
W Weight |  Th, L.

p Description Code kg/p mm mm
10 | S100U 100 SS316L 750201 | 0.260 2.00 204
10 | S100U 150 SS316L 750202 | 0.320 2.00 254
10 | S100U 200 SS316L 750203 | 0.380 2.00 304
10 | S100U 300 SS316L 750204 | 0.500 2.00 404
10 | S100U 400 SS316L 750205 | 0.620 2.00 504
10 | S100U 500 SS316L 750206 | 0.740 2.00 604
10 | S100U 600 SS316L 750207 | 0.860 2.00 704

Use TRCC Mé6x12 bolt or AGRAFTOL for mounting the trays
Use a screwdriver to lock mesh tray

Ceiling mounting with M8 threaded rod + 2 HE M8 nuts

218 | 2023 CATALOGUE

Tige filelée MB + 2 Ecrous HE M8
(Threaded rod M8 + 2 Nut M8)

Tige filatée M8 + 2 Ecrous HE M8
(Threaded rod M8 + 2 Nut M&) ~

Chemin de cables fil_

(Mash tray) / | =




@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

S100U RANGE

S100U CLAMP

Y] Weight

p | Description Code kg/p
Il 50 | cLAMP S100U G 552113 | 0.018

W Weight

p Description Code kg/p
I 50 | CLAMP S100U HDG 553113 | 0.018

N} Weight

p Description Code kg/p
50 | CLAMP S100U SS316L 555113 | 0.016

Recommended for mounting with:
e S100U rails on the floor or on the wall
¢ UFL brackets if mounted on the back of hanger

S100U FIXING CLAMP

.’ﬂ Weight
P Description Code Kg/p
I 50 | s100UCLAMPG 677790 | 0.133
] Weight
P Description Code Kg/p
& 1 | 100U CLAMP HDG 678790 | 0.146
F max 20 daN
_  300Max _
UFLP BRACKETS
] Weight |  Th, He | w L.
p Description Code kg/p mm mm mm mm daN
Il 20 | UFLP-106 747030 | 0.310 2.00 120 | 100 165 130
20 | UFLP-156G 747031 | 0.370 2.00 120 | 150 215 108
20 | UFLP-20G 747032 | 0.460 2.00 120 | 200 265 86
20 | UFLP-25G 747033 | 0.550 2.00 170 | 250 315 75
20 | UFLP-30G 747034 | 0.600 2.00 170 | 300 365 b4
] Weight |  Th, He | w L.
p | Description Code kg/p mm mm mm mm daN
ET 20 | UFLP-102ZM 748030 | 0.310 2.00 120 | 100 165 130
20 | UFLP-152ZM 748031 | 0.370 2.00 120 | 150 215 108
20 | UFLP-20 ZM 748032 | 0.460 2.00 120 | 200 265 86
20 | UFLP-252ZM 748033 | 0.550 2.00 170 | 250 315 75
20 | UFLP-30ZM 748034 | 0.600 2.00 170 | 300 365 64 'E
o
[y Weight | Th, Helw | L =
p Description Code kg/p mm mm mm mm daN =)
(V2]
B 20 | UFLP-10 SS316L 750030 | 0.310 2.00 120 | 100 165 130
20 | UFLP-15SS316L 750031 | 0.370 2.00 120 | 150 215 108 y N
20 | UFLP-20 SS316L 750032 | 0.460 2.00 120 | 200 265 86 |
20 | UFLP-25SS316L 750033 | 0.550 2.00 170 | 250 315 75 A
20 | UFLP-30 SS316L 750034 | 0.600 2.00 170 | 300 365 64 S ALY = '50 : =
» For direct mounting without clamp onto S100U channel or hanger & N Liw
¢ Use AGRAFTOL or TRCC Mé6x12 bolt for cable tray mounting
; ; 1 TR T
+ Lock mesh tray with a screwdriver 2] =] :'z <=1+,
«W mm» = suitable width of cable tray or working length of bracket. . L e mmes e :

2023 CATALOGUE | 219



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

UFL BRACKETS
Y Weight | Th, He | w L.
p Description Code kg/p mm mm mm mm daN
I 20 | UFL-106 747001 0.320 2.00 120 100 165 130
20 | UFL-15G 747002 | 0.380 2.00 120 150 215 108
20 | UFL-20G 747003 | 0.430 2.00 120 200 265 86
20 | UFL-25G 747004 | 0.560 2.00 170 250 315 75
20 | UFL-30G 747005 | 0.600 2.00 170 300 365 64
Y Weight | Th, He | w L.
p Description Code kg/p mm mm mm mm daN
N 20 | UFL-102ZM 748001 0.320 2.00 120 100 165 130
20 | UFL-15ZM 748002 | 0.380 2.00 120 150 215 108
20 | UFL-20ZM 748003 | 0.430 2.00 120 200 265 86
20 | UFL-25ZM 748004 | 0.560 2.00 170 250 315 75 ® ,'
20 | UFL-30zM 748005 | 0.600 2.00 170 300 365 64 ,.r"/
I
W Weight | Th, He | w L.
p Description Code kg/p mm mm mm mm daN e
20 | UFL-10SS316L 750001 0.320 2.00 120 100 165 130
20 | UFL-15SS316L 750002 | 0.380 2.00 120 150 215 108
20 | UFL-20SS316L 750003 | 0.430 2.00 120 200 265 86 . ‘ 3 8.5x25
20 | UFL-25SS316L 750004 | 0.560 2.00 170 250 315 75 i
20 | UFL-30SS316L 750005 | 0.600 2.00 170 300 365 64

¢ For wall mounting on S100U rails or STRUT 41
e Use TRCC Mé6x12 or AGRAFTOL for mounting the trays

¢ Lock mesh trays with a screwdriver
«W mm» = admissible width of cable trays or usable bracket length

60

11x25

H:120

18,2

U
56

| S |4 S ey & gy |

Ep./Th.
> 74,8

220 | 2023 CATALOGUE

83

50 |50

T

Chemin de cables téle
(Cable tray)

i IO

L1

al 04
ol g
| 1
NIl
|
1T <)

IEJ__. 56 -

Vis TH M8x20
+ Rondelle plate @8
+ Ecrou rainuré M8
(Screw M8x20 + flat washer @8
+ Nut M8 Strut)

STRUT 41x41—]

b

i T TR TS [ v ‘—FLJ=1|

.83 | _50_|_ 50
L
25 50 50, .455_ |
T —F—T
IS

Chemin de cébles fil

(Mesh tray)



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

UFL HANGERS
W Weight | Th, w L.
p | Description Code kg/p mm mm mm .
I 20 | UFL-406 747006 | 0.710 2.00 400 465 50
20 | UFL-50G 747007 | 0.860 2.00 500 565 40
20 | UFL-60G 747008 | 0.950 2.00 600 665 30
[ Weight | th, | w | L s
p Description Code kg/p mm mm mm g
ET 20 | UFL-40 ZM 748006 | 0.710 2.00 400 465 50 ﬂg
20 | UFL-50zM 748007 | 0.860 2.00 500 565 40 |2
20 | UFL-60zZM 748008 | 0.950 2.00 600 665 30
W Weight |  Th, w L.
p Description Code kg/p mm mm mm
M 20 | UFL-40 SS316L 750006 | 0.710 2.00 400 465 50
20 | UFL-50SS316L 750007 | 0.860 2.00 500 565 40
20 | UFL-60SS316L 750008 | 0.950 2.00 600 665 30

«w mm» = usable hanger length
«L mm» = total hanger length

FASTENING

WASHER @10

THE 8x50
+ CLAMP
+ WASHER
+ NUT M8
THE 8x25
+ WASHER
+ NUT M8

7 eiqesn /apn

I
1
U
!
m

UFCO REINFORCEMENT BRACKET

W Weight |  Th, H. L.

p Description Code kg/p mm mm mm

I 20 | UFcoG 747040 | 0.320 2.00 140 140
W Weight | Th, H. L. =
- [+ 4
p Description Code kg/p mm mm mm =)
o
E 20 | urcozm 748040 | 0.320 2.00 140 140 %
. (V2]

W Weight | Th, H. L.

p Description Code kg/p mm mm mm

HOY 20 | UFCO SS316L 750040 | 0.320 2.00 140 140

2023 CATALOGUE | 221



@ NIEDAX  SUPPORT | UNIVERSAL MEDIUM DUTY

UFC HANGING BRACKETS - H 185MM

W Weight |  Th, w L.
p Description Code kg/p mm mm mm daN
Il 20 | UFC-10120x185x100 G 747010 | 0.530 2.00 100 165 122
20 | UFC-15120x185x150 G 747011 | 0.600 2.00 150 215 100
20 | UFC-20 120x185x200 G 747012 | 0.670 2.00 200 265 81
20 | UFC-25170x185x250 G 747013 | 0.800 2.00 250 315 65
20 | UFC-30170x185x300 G 747014 | 0.850 2.00 300 365 50
20 | UFC-40 170x185x400 G 747015 | 0.960 2.00 400 465 40
] Weight |  Th, w L.
p Description Code kg/p mm mm mm daN
ET 20 | UFC-10 120x185x100 ZM 748010 | 0.530 2.00 100 165 122
20 | UFC-15120x185x150 ZM 748011 0.600 2.00 150 215 100
20 | UFC-20 120x185x200 ZM 748012 | 0.670 2.00 200 265 81
20 | UFC-25170x185x250 ZM 748013 | 0.800 2.00 250 315 65
20 | UFC-30 170x185x300 ZM 748014 | 0.850 2.00 300 365 50
20 | UFC-40170x185x400 ZM 748015 | 0.960 2.00 400 465 40
) Weight | Th, w L.
p Description Code kg/p mm mm mm daN
60 o120
M 20 | UFC-10 120x185x100 SS316L 750010 | 0.530 2.00 100 165 122 =
e P s
20 | UFC-15120x185x150 SS316L 750011 0.600 2.00 150 215 100 (r
20 | UFC-20 120x185x200 SS316L 750012 | 0.670 2.00 200 265 81 o ‘?L 3
20 | UFC-25 170x185x250 SS316L 750013 | 0.800 2.00 250 315 65 - f i
20 | UFC-30 170x185x300 SS316L 750014 | 0.850 2.00 300 365 50 £ i B
20 | UFC-40170x185x400 SS316L 750015 | 0.960 2.00 400 465 40 ; o = 50__60_ ;;p_'
- Liw, -
¢ Use AGRAFTOL or TRCC M6x12 bolt for cable tray mounting s
« Lock mesh tray with a screwdriver T
«W mm» = admissible width of cable tray or usable bracket length i
«L mm» = total bracket length
UFCC HANGING BRACKETS - H 135MM
) Weight | Th, w L.
p Description Code kg/p mm mm mm daN
I 20 | UFCC-10 120x135x100 G 747016 | 0.480 2.00 100 165 122
20 | UFCC-15120x135x150 G 747017 | 0.530 2.00 150 215 100
20 | UFCC-20 120x135x200 G 747018 | 0.590 2.00 200 265 81
20 | UFCC-25170x135x250 G 747019 | 0.710 2.00 250 315 65
20 | UFCC-30 170x135x300 G 747020 | 0.770 2.00 300 365 50
20 | UFCC-40 170x135x400 G 747021 | 0.880 2.00 400 465 40
W Weight |  Th, w L.
] Description Code kg/p mm mm mm daN
T 20 | UFCC-10 120x135x100 ZM 748016 | 0.480 2.00 100 165 122
20 | UFCC-15 120x135x150 ZM 748017 | 0.530 2.00 150 215 100
20 | UFCC-20 120x135x200 ZM 748018 | 0.590 2.00 200 265 81
20 | UFCC-25 170x135x250 ZM 748019 | 0.710 2.00 250 315 65
20 | UFCC-30 170x135x300 ZM 748020 | 0.770 2.00 300 365 50
20 | UFCC-40 170x135x400 ZM 748021 | 0.880 2.00 400 465 40
] Weight |  Th, w L.
p Description Code kg/p mm mm mm daN i
o L 120
B 20 | UFCC-10 120x135x100 SS316L 750016 | 0.480 2.00 100 165 122 e ﬁ*ﬁ“
20 | UFCC-15120x135x150 SS316L 750017 | 0.530 2.00 150 215 100 1 ‘
20 | UFCC-20 120x135x200 SS316L 750018 | 0.590 2.00 200 | 265 81 g ‘ ' 3| ‘
20 | UFCC-25 170x135x250 SS316L 750019 | 0.710 2.00 250 315 65 ‘f.j ‘
20 | UFCC-30 170x135x300 SS316L 750020 | 0.770 2.00 300 365 50 i: ! | : | e
50 | 50 32
20 | UFCC-40 170x135x400 SS316L 750021 0.880 2.00 400 465 40 = L T liw. ]
+ Use AGRAFTOL or TRCC M6x12 bolt for cable tray mounting i -85
« Lock mesh tray with a screwdriver i LS
¥ il o
«W mm» = admissible width of cable tray or usable bracket length &L al

«L mm» = total bracket length

222 | 2023 CATALOGUE



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

U 50 CHANNEL

i’ﬂ Weight o 5.
m | Description Code Kg/m |
i
I 3 |usosme 702045 | 1.300 P .
i = ma| i
10 120 2
SI U/ o1
& 3‘
0 .
B ¥ D64
4
a8 .
10
1 g = Ld
g |2
HUF 50 HANGER
] Weight L.
P Description Code Kg/p mm
T3 20 | HUF 50 300 HDG 701723 | 0.550 301
20 | HUF 50 400 HDG 701724 0.670 401 [.
20 | HUF 50 500 HDG 701725 | 0.820 501 ﬂ 140
10 | HUF 50 600 HDG 701726 | 0950 | 601 0 T w0
1 HUF 50 700 HDG 701727 1.090 705 n ; ! T —[
=) AA-O-F-
u vI } = | S
) i o
/1\ Deflection in mm [I “’F
o T
~==HUF 50/1000 + KTU 300 ) 12| G =
8 i ——HUF 50/1000 + KTU 400 2
o A [I ‘Ht
7 /r 0 %?[
6 // o G \-mao
5 < - . L e
% ,/ 1000 /|3 Fges. B
s ,/ i_, U
// ! 8
2 f
)
1 = F, L=300mm | L=400 mm o = 2
0 | DAZ 10X10 |F max. 1.4 kN|F max. 1,1 kN 22 _..Jl.-jt
0 02 04 08 0,8 1 1,2 14 18 =50

— Load in kN

KTUM BRACKETS
W Weight | [, H.
P Description Code Kg/p mm daN mm
Il 20 | KTUM 1006 701739 | 0.240 105 120 73
20 | KTUM 150G 701740 0.290 155 120 73
20 | KTUM 200 G 701741 0.330 205 120 73
20 | KTUM 300G 701743 | 0.470 305 120 73 IE
20 | KTUM 400 G 701744 0.780 405 120 83 8
. . o
Delivered with 2 TRCC M6x12 GM bolts + 1 TRCC M10x25 GM bolt =)
(2]
0!
2505 L - ¢ i
@ €
1 S 8
: 1 « Y ¢ 3 C Y € :1 ‘8' : [-D — :
o o) L2 L

2023 CATALOGUE | 223



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

KU 50 HEADPLATE

.’ﬂ Weight L.
P Description Code Kg/p mm
I 20 | PDT KU 50 HDG 702070 | 0.419 105

Delivered with 2 TRCC M10x25 GM bolts

‘8_ 8 ~O11
! 52}
]
20 3 =l
503 |
KUGV 50 HEADPLATE
W Weight
Description Code

I."'J:ﬂ 10 | PDT KUGV 50 HDG 702085 0.900

Delivered with 2 TRCC M10x25 GM bolts

K 50 END CAP
7 Weight
P Description Code Kg/p
™ 10 | K50PVC 703709 | 0.010

UD 24 JOINING PLATE

N} Weight
p Description Code Kg/p
Il 20 ub246 701751 | 17.000

Delivered with 1 TRCC M10x50 GM bolt

224 | 2023 CATALOGUE



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

A universal system for both perforated and mesh type cable trays

» Safe assembly as brackets once locked inside the channel cannot be released

¢ Quick clip-on system without bolts

» Brackets can be fixed directly onto wall

» Brackets can be fixed onto S150U channel for single, double or back to back hanging system
 Brackets can be fixed onto STRUT 41 channel

S150U LONG CHANNELS

N} Weight
m | Description Code kg/ml [.L.I
Il 1 | S150UTMTH26 757106 | 1.028 r—
2 | S150U 2MTH2 G 757101 | 1.028 3' H
3 | S150U3MTH2 G 757102 | 1.028
=G
N} Weight S : r
m | Description Code kg/ml - E {{f‘j o i L us
E 1 | S150U 1M TH2 ZM 758106 | 1.028 AL : = =T (.17
B i 4 -,
2 | S150U 2M TH2 ZM 758101 | 1.028 E [_| 8 W
o g w
3 | S150U 3M TH2 ZM 758102 | 1.028 ML O g
E - 3 |
g 3 £
S150U SHORT CHANNELS E O
] Weight g - L0 2
p Description Code kg/p - R ] N
; E O | _|l-85x102
Il 1 | s150Ux250 TH2 6 757107 | 0.260 B -
1 | S150Ux500 TH2 G 757108 | 0.581 ¢ E -
;s l:l Jil
] Weight -3 i
p Description Code kg/p m |—;|
El 1 | S150Ux250 TH2 ZM 758107 | 0.260 B3 .
1 | S150Ux500 TH2 ZM 758108 | 0.520 =E] :
$150U CLIP-ON GUSSET
* Clip-on assembly on S150U channel without bolts. ; W
* 1 piece, 4 uses: .
. . 2 e
- single or adjustable R Q o na
- gusset base i ' oo
Q
- double gusset for double hanger oy n
- -—
Y o Weight | Th, (] o1 (\
p Description Code kg/p mm m.daN daN e
M| 20 | CLIP ON GUSSET S150U G 757201 | 0.264 2.00 30 600 [ 0
o 1232
(V] Weight | Th, (7] - -
p | Description Code kg/p mm m.daN daN @
o
BT 20 | CLIP ON GUSSET S150U ZM 758201 | 0.264 2.00 30 500 &
=)
0

Loads given are considered with a safety split pin, without split pin:
- Deflection: 12 mdaN
- Pull out resistance: 250 daN

¥

= e o=— =¥
30 | 12 | 600 | 250

Goupille @8x90

(Split pin
@8x90)

BP TRCC
M8x18 HE -

~ Echelle S150U
(S150U Short
Channel)
Sécurisation par Goupille 8x90
et TRCC 8x18 si CPS > 250 daN
4 ou>12m.daN

W oiciaiaialalaialalejsinle]
Woioieiniefeioinfajsislsintelei
b - s

2023 CATALOGUE | 225



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

S150U BRACKETS

Y Weight | Th, Hoo| w L
Description Code mm mm mm mm daN daN

Il 20 | cio0NG 757021 | 0.130 1.20 77 100 118 70 90
20 | C150NG 757022 | 0.160 1.00 77 150 168 75 90

20 | C200NG 757023 | 0.180 1.00 77 200 218 55 120

20 | C300NG 757024 | 0.470 1.00 107 300 318 130 190

20 | C400NG 757025 | 0.540 1.00 107 400 417 110 150

10 | C500N G 757026 | 1.110 2.00 134 500 518 150 165

10 | C600N G 757027 | 1.240 2.00 134 600 618 115 125

Y Weight | Th, Heo | w L
Description Code mm mm mm mm daN daN

El C100N ZM 758021 | 0.130 1.20 77 100 118 70 90
1 C150N ZM 758022 | 0.160 1.20 77 150 168 75 90

1 C200N zZM 758023 | 0.180 1.20 77 200 218 55 120

1 C300N ZM 758024 | 0.470 1.50 107 300 318 130 190

1 C400N ZM 758025 | 0.540 1.50 107 400 417 110 150

1 C500N ZM 758026 | 1.110 2.00 134 500 518 150 165

1 C600N ZM 758027 | 1.240 2.00 134 600 618 115 125

* Direct wall fixing @ 8 to 12 mm, also on S150U or STRUT 41 channel
¢ Perforated cable tray fixing with AGRAFTOL or M6x12 TRCC+HE panhead bolts
SWL on channel: load values given are considered with a safety split pin assembly

w mm : admissible width of cable tray or usable bracket length
L mm : total bracket length

a afa o

226 | 2023 CATALOGUE



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

S150U JOINING PLATE

120

\
&

Mount with TRCC 8x18 bolt

Y] Weight
p | Description Code kg/p a\
—~8x 10
Il 50 | JOIN. PLATE S150U G 757202 | 0.137 g
N Weight [ g ﬂ\g»h J8x 14
p Description Code kg/p [ a | g 85
fa) ]
ET 50 | JOIN. PLATE S150U ZM 758202 | 0.137 < | I — 218
Y g 2 4

S150U CLIP-ON ANGLE BRACKET - EQU
Y] Weight
p Description Code kg/p
Il 20 | EQUST50UG 757205 | 0.181 i
N} Weight T 9
p | Description Code kg/p I o
E 20 | EQU S150U ZM 758205 | 0.182 '

r | <=13€

CAN BE SECURED

USING A TRCC 8x18

OR SPLIT PIN 8x90

i,

CLIP-IN BOLT
FREE MOUNTING

TRCC 8x18

e

G10 B GUSSET

.’ﬂ Weight Th.

p | Description Code kg/p mm

Il 10 [c10BG 613021 | 0.464 1.75
] Weight Th. =
p Description Code kg/p mm g
ITEH 10 | G10BHDG 614021 0.510 1.75 &
=2
] Weight |  Th, 2

p Description Code kg/p mm

S 10 | G10BSS304L 616021 | 0.400 1.50

For hanger assembly use S150U channels

2023 CATALOGUE | 227



@ NIEDAX SUPPORT | UNIVERSAL MEDIUM DUTY

2970 CHANNEL
(] Weight
Description Code kg/ml
Il 2 | 297030x156G 700503 | 0.650 .
Pt
9!15\ &
e
26 (//6"?.//;;’
&R
e
./'@—'ﬁ ,/_’?//
15 S
o -
N’?(é*"s'?f/”" //
S 7
*‘\. 16£\‘\
0
GSF 0406
PKL BRACKET
Y] Weight
p Description Code Kg/p
Il 25 | PKL6-20G 702164 5.000
+ Load in kN
0.5
0.4
\ ——B=50 -
i~ - o
o \ \‘“h""“--..___ —— F
o L -
0.2 mazzzzo-— B =200 !
_‘-‘-‘_‘——
\.__*_-‘
0,1 ~aczzoo|
0 —» L.inmm
0 50 100 150 200 250 300 350
GSF NUT
N} Weight
Description Code Kg/p M6
25 | GSF 0406 M6 EZ 701551 1.000 JII

»’-q

228 | 2023 CATALOGUE



@ NIEDAX SUPPORT | MEDIUM DUTY

C28 PERFORATED C-CHANNEL

i’ﬂ Weight Th.
m | Description Code kg/ml mm
Il 2 |c28x20P2MG 652606 | 0.810 1.50
3 | C28x20P3MG 652605 | 1.184 1.50

: /—6.5x30

TN

™

T
erd

28
9,
I
C

L:2ou3m

C 28 PLAIN C-CHANNEL

Y] Weight | Th, H.
m | Description Code kg/ml mm mm
Il 4 | C28x20x2.004M G 019301 | 1.114 2.00 20
SU 28 BRACKETS
Y] Weight | Th, L.
p Description Code kg/p mm mm
IFH 20 | sSU28150EZ 677801 | 0.219 1.50 150
20 | SU 28 200 EZ 677802 | 0.259 1.50 200
20 | SU 28 250 EZ 677803 | 0.299 1.50 250
20 | SU 28300 EZ 677804 | 0.339 1.50 300
Y] Weight | Th, L.
p Description Code kg/p mm mm
I 20 | su 28150 HDG 678801 | 0.240 1.50 150
20 | SU 28 200 HDG 678802 | 0.285 1.50 200
20 | SU 28 250 HDG 678803 | 0.320 1.50 250
20 | SU 28 300 HDG 678804 | 0.373 1.50 300

Can be fixed on SU28 channel or directly onto the wall

-

SU 28 I-BEAM CLAMP o

i’! Weight Th. L. o

p Description Code kg/p mm mm %

I3 1 | CLAMP SU 28 HDG 012275 | 0.860 | 4.00 304 “a
@240

2023 CATALOGUE | 229



@ NIEDAX SUPPORT | MEDIUM DUTY

SU 28 ANGLE BRACKET - EQU

.’ﬂ Weight Th.
p Description Code kg/p mm 121
N 40 | EQusu286G 677820 | 0311 3.00 I

PSKB11 (TRCC M8x40 bolt + HE nut) required for mounting

SU 28 CHANNEL CLAMP
.0’ Weight 22
p Description Code kg/p -]
I 50 | cLAMPSU 286G 677825 | 0.088 - |

SU 28 END CAP

]

] Weight
p Description Code kg/p
™ 50 | END CAP SU 28 M2 687231 0.003

¢ Channel end cap made of M2 grade plastisol, hot polymerised, designed to

cover the ends of C28x20 channel or SU 28 bracket

e Ensures protection against injury
« Designed and updated on request of the rail industry, has been submitted to

fire resistance tests (according to LNE)

ECC SQUARE NUTS
(Y] Weight
p | Description Code kg/100
8| 100 | ECC286 M6 EZ 023260 | 1.300
100 | ECC288 M8 EZ 023259 | 1.600 ﬁ
-
To fasten, use:
¢ TRL Méx15 bolt for M6
« Hex head bolt H M8x20 for M8 Q{@
ECL DIAMOND NUTS
W Weight |  Th,
p Description Code kg/100 mm
8| 100 | ECL286 M6 EZ 023261 | 0.700 5.00

Use TRL M6x15 screw to fasten

230 | 2023 CATALOGUE




@ NIEDAX SUPPORT | MEDIUM DUTY
| SU3s

C 35 CHANNEL
i’ﬂ Weight Th.
m | Description Code kg/ml mm
I 3 | Cc35x35x2.003MG 019350 | 1.900 2.00

C 35 3-SIDE PERFORATED CHANNEL

i’ﬂ Weight Th.
m | Description Code kg/ml mm
Il 3 | c35x353MP10x306 019360 | 1.465 | 2.00
] Weight | Th,
m | Description Code kg/ml mm
I 3 | c35x353M P10x30 HDG 019362 | 1.611 2.00

EIC 35 CHANNEL INSIDE COUPLER

] Weight | Th, L.
p Description Code kg/p mm mm
Il 10 | EIC 35x300 6 019365 | 0.350 2.00 300

To fasten use 2 THE M8x20 screws + 2 M8 diamond nuts

C 35 END CAP
Y] Weight
p | Description Code kg/p
™| 10 | END CAP C 35x35 M2 023975 | 0.030

¢ Channel end cap made of M2 grade plastisol, hot polymerised,
designed to cover the ends of C 35 channel or SU 35 bracket

« Ensures protection against injury

« Designed and updated on request of the rail industry, has been
submitted to fire resistance tests (according to LNE)

SU 35 BRACKETS
Y] Weight |  Th, H. L.

p Description Code kg/p mm mm mm daN

Bolt M8 SU 45
023580
Includes:

;3 gg Screw TH M&x25

cu Washer M@8
Rectangular nut

38x40 M8

3| 20 | su35/250 HDG 012312 | 0.580 1.00 120 250 210
20 | SU35/350 HDG 012313 | 0.740 2.00 120 350 130
20 | SU 35/500 HDG 012314 | 1.000 2.00 120 500 95

Bolt M10 5U 45
023581

Others Includes:

@10 Screw TH M10x30
Washer ME10
Washer AZ@10
Rectangular nut
3Bx40M10

Bolt M12 5U 45
023582
Includes:

Others | Screw TH M12x35

@12 | washer M@12

Washer AZ@12
Rectangular nut
38x40 M12

[
o
(=]
o
o
=)
(]

ECL DIAMOND NUTS

N} Weight
p Description Code kg/p

IEA| 100 | ECL356 M6 EZ 023262 | 2.200
100 | ECL358 M8 EZ 023255 | 1.900

h\
O
14

TRL M6x20 or Hex head bolt THE M8x20 required

2023 CATALOGUE | 231



@ NIEDAX SUPPORT | MEDIUM DUTY

SU 35 ACCESSORIES
SU 35 FASTENER

W Weight |  Th,
p | Description Code kg/p mm
I 10 | FAST. SU 35 45 HDG 012277 | 1.335 5.00
9
For | or E Beam sizes between 80 and 300 mm ; “a
Delivered with bolts and accessories 7
Suitable for use with SU 35 brackets / \
/ an -
,/ b, ‘ F, 293
Vi : @72
S, (f\' Vé
s XTRec 10x 40
b
PDT C 35 HEAD PLATE
i’ﬂ Weight Th. <
p | Description Code kg/p mm !
I3 20 | PDT C35 HDG 012325 | 0.370 3.00 f

10x30

GO C 35 ADJUSTABLE GUSSET

." Weight Th.
p Description Code kg/p mm 13 % 20
Il 10 | Gcoc3s6 012096 | 0734 | 2.00 . 7 — N
= ||‘ g
Delivered with bolts and joining plate ) 150 e
= 8g =
w .
9 i
1 29
B 13
9x80 /8
., w

C35 B CLAMP
W Weight | Th,
p Description Code kg/p mm
I3 10 | c35BCLAMP HDG 019610 | 0.157

L1 oul2 F
mm daN
100 300
200 200
300 133
400 100
500 80

232 | 2023 CATALOGUE



@ NIEDAX SuPPORT | MEDIUM DUTY

C35 SQUARE NUT 35X35
i’ﬂ Weight Th.
p | Description Code kg/p mm
IEH 50 | SQUARE 35x35 EZ 019700 | 0.040 | 4.00

C35 RECTANGLE 70X35

i" Weight Th.
p Description Code kg/p mm
7| 50 | RECTANGLE 70x35 EZ 019701 | 0.070 4.00

C35 RECTANGLE 105X35

] Weight Th.
p Description Code kg/p mm
8| 50 | RECTANGLE 105x35 EZ 019702 | 0.110 4.00

C35 RECTANGLE 140X35

." Weight Th.

p Description Code kg/p mm

E 50 | RECTANGLE 140x35 EZ 019703 0.150 4.00
-
C35 90° GUSSET o
=~ o
v Weight | Th, &
p Description Code kg/p mm 5 )

)

67 0

I 20 | GUSSET 90 C35x35 EZ = 019705 | 0.110 | 4.00

a5

2023 CATALOGUE | 233



@ NIEDAX SUPPORT | MEDIUM DUTY

SU 35 ACCESSORIES
C35 180° T GUSSET

.’ﬂ Weight Th.

p | Description Code kg/p mm _

20 | T GUSSET 180D C35x35 EZ 019706 | 0.150 | 400 Y 1%
C35 360° CROSS GUSSET

(] Weight |  Th,

p Description Code kg/p mm

20 | CROSS GUSSET 360D C35x35 EZ 019707 | 0.210 4.00

C35 DOUBLE CROSS GUSSET

W Weight | Th,
p Description Code kg/p mm
20 | DOUBLE CROSS GUSSET C35x35 EZ 019708 | 0.310 4.00

C35 90° CORNER BRACKET 35X35

Y Weight | Th,
p Description Code kg/p mm
20 | EQU 90D 35x35 EZ 019711 | 0.070 4.00

C35 90° CORNER BRACKET 35X70

W Weight | Th,
p Description Code kg/p mm
50 | EQU 90D 35x70 EZ 019712 | 0.110 4,00

234 | 2023 CATALOGUE



@ NIEDAX SUPPORT | MEDIUM DUTY

SU 35 ACCESSORIES
C35 90° CORNER BRACKET 70X70

.’ﬂ Weight Th.
p | Description Code kg/p mm
IE0 50 | EQU 90D 70x70 EZ 019713 | 0.150 | 4.00

C35 135° CORNER BRACKET 35X35

] Weight |  Th,
p Description Code kg/p mm
I8 50 | EQU 135D 35x35 EZ 019714 | 0.070 4.00

EQU Z 35X35X35 C35 CORNER BRACKET

Y] Weight |  Th,
p Description Code kg/p mm
Fl| 50 | EQU Z 35x35x35 EZ 019715 0.110 4.00

C35 T JUNCTION PIECE 35X35

l" Weight Th.
p Description Code kg/p mm
I 20 | TPIECE C35x35 EZ 019720 | 0210 | 4.00

SUPPORT

2023 CATALOGUE | 235



@ NIEDAX SUPPORT | HEAVY DUTY

KTAM BRACKETS
Y Weight | w H. L.
p | Description Code Kg/p mm daN mm mm
Il 20 | KTAM 1006 701986 | 0.200 100 120 60 110
20 | KTAM 150 G 709855 | 0.219 150 120 60 160
20 | KTAM 200G 701987 | 0.300 200 120 80 210
20 | KTAM 300G 701988 | 0.440 300 150 82 320
20 | KTAM 400 G 701989 | 0.500 400 150 82 420
10 | KTAM 500 G 701990 | 1.060 500 120 115 510
10 | KTAM 600 G 701991 | 1.400 600 120 115 610 P
Y Weight | w H. L. '
p | Description Code Kg/p mm daN mm mm
I3 20 | KTAM 100 HDG 709935 | 0.220 100 120 60 110
20 | KTAM 150 HDG 709936 | 0.240 150 120 60 160
20 | KTAM 200 HDG 709937 | 0.330 200 120 80 210
20 | KTAM 300 HDG 709938 | 0.480 300 150 82 320
20 | KTAM 400 HDG 709873 | 0.550 400 150 82 420
" orow MIO25 HDS 4630 HU 5050
+ Nut M10 Strut + flat washer @10) HDSOEJO:SD_“H“"“ !

Chemin de cibles téle

(Cable tray) Chemin de cables fil

(Mesh fray)

BP TRCC M6x12 HE

KTAM 300

FLAT BRACKETS
W Weight H. L.
p Description Code Kg/p daN mm mm
8 20 | CPN100EZ 613170 | 0.385 300 95 125
10 | CPN 200 EZ 613172 | 0.520 200 95 225
10 | CPN 300 EZ 613173 | 0.655 150 95 325
10 | CPN 400 EZ 613174 | 0.790 105 95 425
10 | CPN 500 EZ 613175 | 0.925 95 95 525
10 | CPN 600 EZ 613176 | 1.060 70 95 625
W Weight H. L.
p Description Code Kg/p daN mm mm - ] 520
< )
A 20 | CPN 100 HDG 614170 | 0.424 | 300 95 125 . N
10 | CPN 200 HDG 614172 | 0.572 200 95 225 [— ! i
] .| Sl S‘
10 | CPN 300 HDG 614173 | 0.721 150 95 325 Lw | o mzm e BB
10 | CPN 400 HDG 614174 | 0.869 105 95 425 m ——— Y i
10 | CPN 500 HDG 614175 | 1.018 95 95 525 R
10 | CPN 600 HDG 614176 | 1.166 70 95 625 - - -

236 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

4530 RANGE
HU 4530 HANGER
Y] Weight
Description Code Kg/p 10
I3 1 | HU 4530 200 HDG 710665 | 0.489 SN i
1 HU 4530 250 HDG 710666 | 0.563 *
1 HU 4530 300 HDG 710667 0.623 30 @ * *
1 HU 4530 400 HDG 710668 0.757
I
1 | HU 4530 500 HDG 710669 | 0.891 + =
1 HU 4530 600 HDG 710670 1.025 @ *
1 HU 4530 700 HDG 710671 1.166 |
1 HU 4530 800 HDG 710672 1.300
1 HU 4530 900 HDG 710673 1.435 @
1 HU 4530 1000 HDG 710674 | 1.569 |
1 HU 4530 1100 HDG 710675 1.703
1 HU 4530 1200 HDG 710676 1.837
435
Z
ly = 3,96 cm* Wy = 1,82 cm®
1z=1,34 cm* ¥ T Y Wz = 0,65 cm?®
Load diagram: deflection of the hanger in case of one-sided charges 2
18
===HU 4530/1000 + KTA 300
16 —HU 4530/1000 + KTA 400
i /‘/
E 1 .
>~
£ 10 / //
— T P
5 . //,/
°
% & ///
o
4 2
E Bracket L Bracket L
2 1A D =300 mm =400 mm
I - |
0 + DAZ 10X10 Fmax1.4kN;Fmax1.1kN‘
0 02 04 06 038 1 12 14 16
Load F in kN
U 4530 CHANNEL
] Weight Th. 10
P 1
Description Code Kg/ml mm 29,5 i
N 1 | uss303MG 710706 | 1.220 2.00 /\< 43, *
30 *
N} Weight Th. <l./ 2 7@7 t
Description Code Kg/ml mm /ﬂ U * | 20
I 1 | u45303M HDG 710718 | 1.342 | 2.00 11x30 [ Q{[) @ ;
0o |
SOL @
U U L | =
o
[h 0 @ S
o.
00 %
=2
w0
B0 435
U
z
ly = 3,96 cm* Wy = 1,82 cm®
iz=134cm* 7 T Y wWz=065cm?
z
SKU 4530 END CAP

W Weight
Description Code Kg/p @
M| 50 | SKu 4530 PVC 710694 | 0.010 ﬁ

2023 CATALOGUE | 237



@ NIEDAX SUPPORT | HEAVY DUTY

4530 RANGE
HDS 4530 JOINING PLATE
(] Weight
Description Code Kg/p - HU 4530/...
I 50 | HDS 4530 HDG 710691 0.144 g 45206

} UGM 10..
2 SKM 10X...
Rondelle M10 ﬂu §,\%\
=< PN

Boulon TH M10 IDiS40;80z

@@W@@@

KU 4530 HEAD PLATE

] Weight
Description Code Kg/p
I 20 | KU 4530GC 710591 0.487

KUDP 4530 HEAD PLATE

] Weight
Description Code Kg/p
A 1 | KUDP 4530 HDG 710730 | 0.819

<
KUDK 4530 DOUBLE HEAD PLATE
(] Weight
Description Code Kg/p “t
A 1 | KUDK 4530 HDG 710727 | 1.829 S

l HK 510/

=

|
e ‘ “KUDK 4530
T

“a

238 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

For all heavy duty applications from 150 to 500 daN

 Universal system for all load types and all product types

» 100% adaptable with adjustements along the whole length of the channel,
all configurations possible with a complete range of parts and fixings

» Economic with a 50% saving compared to traditional machine welded constructions
* Increased safety with notched anti-slip channels

The whole STRUT 41 range is available in stainless steel on request

Technical recommandations: L

Maximum loads recommended (in daN/m). 1/100 span maximum deflection. Elastictity modulus 21000daN/mm?.

Maximum stress 160 N/mm?. Configuration: distributed load with two supports at each end.

G STRUTCHAN. STRUTCHAN. STRUTCHAN. STRUTCHAN. 3FSTRUTCHAN. 3FSTRUTCHAN. STRUTCHAN. STRUTCHAN. STRUTCHAN. STRUTCHAN.
o 41x21x1,8 41x21x25 41x41x1,8 41x41x2,5 41x41x1,8 41x41x25 41x21x1,8 41x21x25 41x41x1,8 41x41x25
PERFORATED  PERFORATED  PERFORATED  PERFORATED  PERFORATED  PERFORATED BACKTOBACK BACKTOBACK BACKTOBACK BACKTOBACK
500 200 254 589 782 573 761 570 754 1727 2344
750 96 123 393 521 382 507 380 502 1151 1563
1000 54 69 295 391 286 381 285 377 864 1172
1250 35 44 198 265 184 246 188 249 691 938
1500 24 31 138 184 128 171 131 173 576 781
1750 18 23 101 135 94 126 96 127 493 670
2000 14 17 77 103 72 96 74 97 432 586
2250 11 14 61 82 57 76 58 77 353 478
2500 9 11 50 66 46 62 47 62 286 388
2750 7 9 41 55 38 51 39 51 236 320
3000 6 8 34 46 32 42 33 43 198 269

LOADING CONDITIONS ON CHANNELS AND BRACKETS

PLEASE USE THE FOLLOWING MULTIPLYING FACTORS (K)

LOADING CONDITIONS AND SUPPORT

— ADMF ADMF —POME___ ADM F ~— RDME ADMF ADMF ADMF

ADMF

2| 3 4 g L2 L L Y] 2 U2 L
«k:1,00 « k:0,50 «k:0,75 «k:075 «k:1,00 e k:0,12 « k:0,66 o k:025 «k:025
«k:1,00 k0,50 «k:0,75 «k:075 «k:1,00 «k:0,12 « k:0,66 «k:025 «k:025
CHANNELS MECHANICS (SZ finish) -
o
SECTION MOMENT OF INERTIA MODULUS OF INERTIA o
CHANNEL DIMENSIONS  pescriprion ~ THICKNESS AREA =
mm? Ix mm* ly mm* Ix /Vmm? ly /Vmm? a
STRUT CHAN. 41 x 21 perforé 1,75 173,3 8395 40760 783 1988
STRUT CHAN. 41x21 perforé 2,5 238,7 10736 54709 993 2669
STRUT CHAN. 41 x 41 perforé 1,75 245,1 47999 68412 2302 3337
STRUT CHAN. 41 x 41 perforé 2,5 341,2 64128 92745 3054 4524
3F STRUT CHAN. 41 x 21 perforé 1,75 245,1 47548 53090 2198 2590
3F STRUT CHAN. 41x21 perforé 2,5 341,2 63465 71575 2909 3491
STRUT CHAN. 41x21 dos a dos 1,75 346,6 45618 82160 2225 4008
STRUT CHAN. 41 x21 dos a dos 2,5 477,5 60359 110333 2944 5382
STRUT CHAN. 41 x 41 dos a dos 1,75 490,1 276625 137464 6747 6706
STRUT CHAN. 41 x 41 dos a dos 2,5 682,5 375453 186406 9157 9093

2023 CATALOGUE | 239



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 CHANNELS

PERFORATED STRUT 41X21 CHANNELS - PS 500

(] Weight |  Th,
m | Description Code Kg/ml mm
Il 3 | STRUT41x21x1.75P 3M G 652005 | 1.236 1.75
\ 6 | STRUT 41x21x1.75 P 6M G 652007 | 1.236 1.75
(Y] Weight |  Th,
m | Description Code Kg/ml mm

‘
m\ 3 | STRUT 41x21x1.75 P 3M HDG 653005 | 1.360 1.75
\ 6 | STRUT 41x21x1.75 P 6M HDG 653007 | 1.360 1.75

STRUT 41X21 PERFORATED - PS 530

W Weight |  Th,
m | Description Code kg/ml mm 30 18
Il 3 | STRUT41x21x2.50 P 3M G 652009 | 1.766 260 || el S e = s ] TS . e[
— r
\ 6 | STRUT 41x21x2.50 P 6M G 652008 | 1.766 2.50 d1 T ) (j ,_\
] Weight Th. 1l i i il
m | Description Code kg/ml mm 22 50
I 3 | STRUT 41x21x2.30 P 3M HDG 653009 | 1.787 2.30
\ 6 | STRUT 41x21x2.30 P 6M HDG 653008 | 1.787 2.30
gpsmh, [V 1 )
R E—— s | o ol

41

STRUT 41X41 PERFORATED - PS 210U

(] Weight |  Th,

m Description Code kg/ml mm

Il 3 | STRUT41x41x1.75P 3M G 652001 | 1.823 1.75
\ 6 | STRUT 41x41x1.75 P 6M G 652003 | 1.823 1.75

(] Weight |  Th,

m Description Code kg/ml mm

I 3 | STRUT 41x41x1.75 P 3M HDG 653001 | 2.005 1.75
\ 6 | STRUT 41x41x1.75 P 6M HDG 653003 | 2.005 1.75

STRUT 41X41 PERFORATED - PS 230U

W Weight |  Th,

m | Description Code Kg/ml mm

Il 3 | STRUT41x41x2.50 P 3M G 652002 | 2.605 2.50
‘ 6 | STRUT 41x41x2.50 P 6M G 652004 | 2.605 2.50

i’ﬂ Weight Th.

m | Description Code Kg/ml mm

I 3 | STRUT 41x41x2.30 P 3M HDG 653002 | 2.547 2.50
‘ 6 | STRUT 41x41x2.30 P 6M HDG 653004 | 2.547 2.50

240 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41X41 PERFORATED ON 3 SIDES - PS 210 3U

i’ﬂ Weight Th.
m | Description Code kg/ml mm
Il 3 | STRUT41x41x1.75 P 3F 3M G 652040 | 1.586 1.75
6 | STRUT 41x41x1.75 P 3F 6M G 652041 | 1.586 1.75
i’ﬂ Weight Th.
m | Description Code kg/ml mm
M 3 STRUT 41x41x1.75 P 3F 3M HDG 653040 1.745 1.75
6 | STRUT 41x41x1.75 P 3F 6M HDG 653041 | 1.745 1.75

Suitable for use with 3U quick gusset

STRUT 41X41 PERFORATED ON 3 SIDES - PS 230 3U

i’ﬂ Weight Th. _z_
m | Description Code Kg/ml mm - 3000 -
30
Il 3 | STRUT 41x41x2.50 P 35 3M G 652050 | 2.266 | 2.50 | ——
|
6 | STRUT 41x41x2.50 P 35 6M G 652051 | 2.266 2.50 Ep/My, i s —C 5 CO O o O
=1
a1
i" Weight Th. !
m | Description Code | Kg/ml mm o
I 3 | STRUT 41x41x2.30 P 3S 3M HDG 653050 | 2.297 2.50
6 | STRUT 41x41x2.30 P 35S 6M HDG 653051 | 2.297 2.50
DOUBLE STRUT 41X21 NON PERFORATED - PS 501
W Weight |  Th,
m | Description Code kg/ml mm
Il 3 | STRUTDBLE 41x21x1.80 NP 3M G 652019 | 2.577 1.75
i’ﬂ Weight Th.
m | Description Code kg/ml mm
I 3 | STRUTDBL 41x21x1.75 NP 3M HDG 653019 | 2.835 1.75
DOUBLE STRUT 41X21 NON PERFORATED - PS 531
i" Weight Th. 41
m | Description Code Kg/ml mm ‘Q,L 2 1 8%
Il 3 | STRUTDBLE 41x21x2.50 NP 3M G 652023 | 3.682 2.50 3 r:{
w0
W Weight | Th, &
m | Description Code Kg/ml mm = I
I 3 | STRUT DBL 41x21x2.30 NP 3M HDG 653023 | 3.726 2.30 §
T
DOUBLE STRUT 41X41NON PERFORATED - PS 211 NP
] Weight | Th,
m | Description Code kg/ml mm
I 3 | DBLE STRUT 41x41x1.75 NP 3M G 652010 | 3.646 1.75 -
o
] Weight Th. o
m | Description Code kg/ml mm &
I 3 | DBLSTRUT 41x41x1.75 NP 3M HDG 653010 | 4.041 1.75 3
STRUT DOUBLE 41X41 NON PERFORATED - PS 231 NP
W Weight |  Th, S — E—
m | Description Code Kg/ml mm ) I}
M| 3 | DBLE STRUT 41x41x2.50 NP 3M G 652016 | 5.248 | 2.50 - o ) .
= =1
[\ ] Weight | Th, { ) iz,
m | Description Code Kg/ml mm
I 3 | DBL STRUT 41x41x2.30 NP 3M HDG 653016 | 5.320 2.50

2023 CATALOGUE | 241



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT BRACKET 41X21 - PS 641

) Weight | H. | w
p Description Code kg/p mm mm daN
I8 10 | STRUT BRACKET 41x21 200 EZ 677142 | 0500 | 135 | 194 | 240
10 | STRUT BRACKET 41x21 250 EZ 677143 | 0562 | 135 | 244 175
10 | STRUT BRACKET 41x21 350 EZ 677145 | 0.687 | 135 | 344 90
10 | STRUT BRACKET 41x21 450 EZ 677147 | 1.071 135 | 444 50
] Weight | . w + Ronaete piats 012
p | Description Code kg/p mm | mm daN S i
STRUT 41241 + flat washer @12
I 10 | STRUT BRACKET 41x21 200 HDG 678142 | 0.607 | 135 | 194 240 + A 12 Sy
10 | STRUT BRACKET 41x21 250 HDG 678143 | 0.680 | 135 | 244 175
10 | STRUT BRACKET 41x21 350 HDG 678145 | 0.826 | 135 | 344 90
Chemin de cables tdle
10 | STRUT BRACKET 41x21 450 HDG 678147 | 1.333 | 135 | 444 50 By (Catletay)

Vis TH M12x70
+ Rondelle plate @12
+ Ecrou M12

For lengths finishing in 00, the first (Screw M12:70
perforation from the head plate is 9x18 Tfatweser iz s otz

For lengths finishing in 50, the first
perforation from the head plate is 9x18
or 13x30

BF TRL M&x12
'+ Ecrou rainuré M&
i+ Nut MS Strut)

 th =6 mm for lengths inferior to 400 mm S _._e/th
. 1
» th =8 mm for lengths superior to 400 mm ‘ 12520
* Wmm: usable bracket length 1 | |
) 1 [l o
o2 § : oroe | o ]
TH B
. = 100-200-300-400 . LI Y
STRUT BRACKETS C 41X21 - C 641
W Weight | w L Th.
p Description Code kg/p mm mm mm daN
8| 20 | STRUT BRACKET C 41x21 150 G 677701 | 0.377 | 150 170 1.8 115 P
20 | STRUT BRACKET C41x21 200 G 677702 | 0.443 | 200
20 | STRUT BRACKET C41x21 300 G 677703 | 0.575 | 300
20 | STRUT BRACKET C 41x21 400 G 677704 | 0.708 | 400

L mm: usable bracket length

BOLT TRCC M&X30
— SCREWTEL M&X20

M& STRUT 41 SPRING NUT
M& STRUT 41 NUT

Y 4

I ——

BOULON

JLON Thec Mam\

=

“ ‘
- -

BOLT TRL M&X40
r

CLAMP U40
SCREW TRL M&X20

MG STRUT 41 SPRING NUT
M6 STRUT 41 NUT

242 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 BRACKETS AND HANGERS
STRUT C SUSPENSIONS 41X21 - CC 641

W Weight |Usefullength| L1 | L2
p | Description Code kg/p mm
I 20 | HANG BRACKET STRUT 41x21 150 G 677751 0.567 120
20 | HANG.BRACKET STRUT 41x21 200 G 677752 | 0.633 170
20 | HANG.BRACKET STRUT 41x21 300 G 677753 | 0.831 270
20 | HANG.BRACKET STRUT 41x21 400 G 677754 | 1.382 370
20 | HANG.BRACKET STRUT 41x21 500 G 677755 1.647 470
- L1
9x30 e i

A
205

\
| ]
R30 A |_ L utile/usable L
L2
.50, 50 .22 50,22,
T P—EEE Q'?‘ =27 —t
E/SCREWTRL MEX20 (" SCREW TRL M6X20
BOLT TRCC M6X30 BOLTTRL M6X40 U/

CLAMP U40

i M STRUT 41 SPRING NUT

a6 STRUT 41 NUT M6 STRUT 41 SPRING NUT

| ™-—" M6 STRUT 41 NUT
|
<

STRUT C 41X21 HANGERS - Cé641

W Weight | w L
p Description Code kg/p mm mm m.daN
I 20 | HANGER STRUT C41x21/500 G 677705 | 1.126 500 520 22
20 | HANGER STRUT C41x21/800 G 677708 | 1.650 800 820 22 j\

L mm: usable length of hanger

TH 8X20 + SCREW
+ L8 WASHER

M8 NUT

-
o
(=]
o
o
2
(2]

L utile /usable L

2023 CATALOGUE | 243



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 BRACKETS AND HANGERS
STRUT BRACKETS 41X41 - PS 651

.’ﬂ Weight w
p | Description Code kg/p mm daN
10 | STRUT BRACKET 41x41 200 EZ 677073 | 0.612 | 194 | 500
10 | STRUT BRACKET 41x41 250 EZ 677122 | 0.704 | 244 | 400
10 | STRUT BRACKET 41x41 350 EZ 677072 | 0.879 | 344 | 320
10 | STRUT BRACKET 41x41 450 EZ 677092 | 1.495 | 444 | 280
10 | STRUT BRACKET 41x41 550 EZ 677126 | 1.763 | 544 | 250
10 | STRUT BRACKET 41x41 650 EZ 677070 | 2.020 | 644 | 250
] Weight | w
p Description Code kg/p mm daN
I3 10 | STRUT BRACKET 41x41 200 HDG 678073 | 0.673 | 194 | 500
10 | STRUT BRACKET 41x41 250 HDG 678122 | 0.774 | 244 | 400
10 | STRUT BRACKET 41x41 350 HDG 678072 | 0.967 | 344 | 320 o o
10 | STRUT BRACKET 41x41 450 HDG 678092 | 1.645 | 444 | 280 . R 2500
10 | STRUT BRACKET 41x41 550 HDG 678126 | 1.940 | 544 | 250 i
10 | STRUT BRACKET 41x41 650 HDG 678070 | 2.220 | 644 | 250 | :I
8 ({
« For lengths finishing in 00, the first perforation from the head plate is 9x18 " ¥ *
¢ For lengths finishing in 50, the first perforation from the head plate is 9x18 'y 5,
or 13x30 T
+ e =6 mm for lengths inferior to 300 mm e gf::o
« e =8 mm for lengths superior to 300 mm i —
[ mm: usable bracket length

STRUT HANGERS 41X41 - PS 651

.’ﬂ Weight L

p Description Code kg/p mm m.daN
I 1 | HANGER STRUT 41x41/1000 HDG 678432 | 3.149 | 994 95
\ 1 | HANGER STRUT 41x41/1500 HDG 678424 | 4355 | 1494 | 95

« For lengths finishing in 00, the first perforation from the head plate is 9x18

¢ For lengths finishing in 50, the first perforation from hte head plate is 9x18
or 13x30

e e=8mm
Lmm: working length of hanger

Charge en
Load in daN
250,
. 135 .
200 . 1128, 25
PS 65111000 + PS 651 L 644 T i ! — :
= N o
150 | : S L7 0
100 | et ol g s
/ =i PS651L 1500+ PS 651 L 644 8
? /' ol
0 t”/ N —
0 5 10 15 20 25 30 35 : © - | }
Fleche en 22
Deflectionin | ™M 8

244 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT DOUBLE HANGER 41X82 - PS 809

i’ﬂ Weight 166 N
p Description Code kg/p m.daN 121
I 1 | STRUT DBL HANGER 41x82 350 HDG 678128 | 2.268 180

1 | STRUT DBL HANGER 41x82 500 HDG 678129 | 3.036 180

1 | STRUT DBL HANGER 41x82 650 HDG 678130 | 4.270 180 RS

1 | STRUT DBL HANGER 41x82 800 HDG 678131 | 4.574 180 — i
1 | STRUT DBL HANGER 41x82 950 HDG 678132 | 5.342 180 12.5x 20 i

1 | STRUT DBL HANGER41x82 1500 HDG 678376 | 9.152 180

1 | STRUT DBL HANGER 41x82 2M HDG 678405 | 12.040 | 180

Can also be used as a reinforced bracket

Charge en

Loadin ‘ daN
400
350 e L1
300 s
250 -
200! . | |
150! [PS809L 500 +PS651L644] |
100 [(PS809L 950 +PSESTL 644 | |
50| [PS 809 L1500+ PS 6511 644] BRTRCCMI0XZS
0 (PS809 L 2000 + PS 65T L 644
25 30 35 40
Fléche en
Deflectionjn | MM
STRUT 41 END CAP
] Weight
p | Description Code kg/p
@ 50 | END CAP STRUT 41x21 PVC 687385 | 0.003
50 | END CAP STRUT 41x41 PVC 687228 | 0.008

STRUT 41 ACCESSORIES

STRUT REVERSIBLE STIFFENER

] Weight |  Th,

p Description Code kg/p mm daN

3| 25 | REV STIFFENER STRUT41 HDG 678125 | 0.810 5.00 450
Load by bracket length:

e 444 mm > 450 daN
e 544 mm > 350 daN
e 644 mm > 350 daN

[
o
(=]
o
o
=)
(]

e

2023 CATALOGUE | 245



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 ACCESSORIES

STRUT 41 3U BOLT FREE GUSSET

W Weight W
p | Description Code kg/p m.daN daN
A 10 QUICK GUSSET 3U STRUT G 677066 | 0.726 34 350

> Multi-directional
> Can be secured using split pins
> Easy to use with just one hit of a mallet

For use with STRUT 41 channel perforated on 3 sides: maximum load of 350
daN with symmetric mounting

» Tightening torque for screws H10 with spring nut M10 = 34 N.m

¢ For asymmetric mounting we recommend the use of a reversible stiffener
STRUT 41

For lengths over 1 m please contact us

STRUT 41 GUSSET - UP 41

] Weight W
p Description Code kg/p m.daN daN
I 10 | GUSSET STRUT41 G 677067 | 0.726 34 350

> Multidirectional

> Mounting with 2 M10 bolts and 2 PS10N nuts

e Suitable for all 41 channels

Suitable for 41x21 channels when used as symmetric hangers
¢ Maximum load of 350 daN with symmetric mounting

e Tightening torque of H10 screws with M10 spring nut = 34 N.m
For lengths over 1 m please contact us

246 | 2023 CATALOGUE




@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 HEAD PLATE - PS 3033

Y] Weight
p | Description Code kg/p
I 10 | PDT STRUT41 HDG 678063 | 1.317

¢ For mounting as a hanger with STRUT 41 channel with a maximum load
of 350 daN

» Tightening torque for screws H12 with spring nut M12 = 34 N.m

« For assymetric mounting it's recommended to use a STRUT 41 stiffener
For lengths over 1m please contact us

)|
|@12,5
@ | b o O
‘I.D_ 1
wf []
el
135,135 | o 35x12,5
STRUT 41 DOUBLE HEAD PLATE - PS 3064
] Weight
p Description Code kg/p
T3 10 | DBLE PDT STRUT41 HDG 678064 | 1.760
¢ For mounting as a hanger with 41 back to back channel with a maximum
load of 500 daN
« Tightening torque for screws H12 with spring nut M12 = 34 N.m
¢ For asymmetric mounting it's recommended to use a STRUT 41 stiffener
For lengths over 1m please contact us
In hanger configuration o P10,
g g 8 U 50_
Torque screw H12 Load ; r
with spring nut . 2 Q Ot
M12 daN daN o 3 g
e
678063 34 N.m 350 a1 | l.2s
s
678064 34 N.m 500 L7
TZK 86-96 FIXING CLAMP
Y] Weight
p Description Code Kg/p ol .I
I 10 | TZK86-966 (1 pair) 709860 | 0.251 E,Bﬂf - }j LD
Allows to hold a STRUT 41x41 or 41x21 channel inside a 5;”:”
HEA / HEB metal beam ~ ¥
WL
7o - R
RS TN
S Sl -
e ot [+ 4
~ |5 (=
&
STRUT 41 WASHER DIAMETER 10 7
W Weight
p Description Code kg/100 —
IZ2 100 | WASHER STRUT41 10 EZ 648138 | 2.500 =
<
W Weight il
p | Description Code kg/100 n
3| 100 | WASHER STRUT41 10 HDG 651138 | 2.500

T

2023 CATALOGUE | 247




@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 ACCESSORIES

STRUT 41 SQUARE NUT - PS 621

] Weight

p | Description Code kg/100

T 100 | STRUT41 SQUARE NUT 9 HDG 678134 | 7.200
100 | STRUT41 SQUARE WASHER 11 HDG 678301 7.200

100 | STRUT41 SQUARE WASHER 13 HDG 678300 | 7.200

STRUT 41 - 2 HOLES RECTANGULAR NUT - PS 601

N} Weight
p Description Code kg/p
I 50 | 2 HOLE RECT STRUT41 HDG 678002 | 0.150

STRUT 41 - 3 HOLES RECTANGULAR NUT - PS 602

] Weight
p Description Code kg/p

0.220

A 25 | 3 HOLE RECT STRUT41 HDG 678001

STRUT 41 - 4 HOLES RECTANGULAR NUT - PS 723

H12x20
+PSI2TG

] Weight .
p Description Code kg/p - —
I 25 | 4 HOLE RECT STRUT41 HDG 678003 | 0.240 T

STRUT 41X41 COUPLER - PS 616

] Weight
p Description Code kg/p

A 10

STRUT41x41 COUPLER HDG

678051 | 1.080 IO © 0 Q
v 40125
182 -
AT, 205
T 17 i
=
Al
STRUT 41 - 3 HOLES FLAT ANGLE - PS 718
i’ﬂ Weight Th. ~
p Description Code kg/p mm ™
I3 25 | 3 HOLE FLAT ANGL STRUT41 HDG 678021 | 0.267 6.00 .
1 >
f""\l
————————

248 | 2023 CATALOGUE




@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 ACCESSORIES

STRUT 41 - 4 HOLES FLAT TEE - PS 714

W Weight | Th, . .
p | Description Code kg/p mm o T e e
‘ ) .
I 25 | 4 HOLE FLAT TEE STRUT41 HDG 678023 | 0.340 6.00 H I ; ke

e screw TH 12x25* + nut STRUT M12

*screw TH 12x25 on channel STRUT 41x21 ~
screw TH 12x35 on channel STRUT 41x41 ) :

STRUT 41 - 4 HOLES FLAT GUSSET - PS 747

Y Weight | Th,
p Description Code kg/p mm
I 25 | 4 HOLE FLAT GUSS STRUT41 HDG 678024 | 0.430 6.00

STRUT 41 - 4 HOLES SHELF ANGLE - PS 748

N} Weight %
p Description Code kg/p a5t @ "
<™ i
[T 25 | 4HOLE SHELF ANGL STRUT41 HDG 678043 | 0.435 A o m # 125
s ~ I e s e s |

e screw TH 12x25* + STRUT M12 nut

*screw TH 12x25 on channel STRUT 41x21
screw TH 12x35 on channel STRUT 41x41

STRUT 41 - 2 HOLE ANGLE BRACKET - PS 604

W Weight e gme
p | Description Code kg/p s |
I 25 | 2 HOLE ANGLE STRUT41 HDG 678032 | 0.130 1 1-

Fasten with M12 flanged nut and M12x25 hex. head screw.

STRUT 41 - 3 HOLES ANGLE - PS 606

Y] Weight .

p Description Code kg/p ) PR o

{ Ll o

I 25 | 3 HOLE ANGLE STRUT41 HDG = 678035 | 0.249 S s [1 o
= \ 3 : | n-

\\ : =

> e ———1 7]

IxO13

2023 CATALOGUE | 249



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 ACCESSORIES

STRUT 41 - 4 HOLES ANGLE - PS 607

] Weight
p Description Code kg/p
I 25 | 4 HOLE ANGLE STRUT41 HDG 678037 | 0.326 .
-

e screw TH 12x25* + STRUT M12 nut

*screw TH 12x25 on channel STRUT 41x21
screw TH 12x35 on channel STRUT 41x41

STRUT 41 - 4 HOLES FLAT ANGLE 45° - PS 786

N Weight
p Description Code kg/p
I 25 | 45° 4 HOLE STRUT41 HDG 678203 | 0.327

e screw TH 12x25* + STRUT M12 nut

*screw TH 12x25 on channel STRUT 41x21
screw TH 12x35 on channel STRUT 41x41

STRUT 41 - 4 HOLES REINFORCED SHELF ANGLE - PS 3363

W Weight
p Description Code kg/p
IEI 25 | 4 HOLE SHELF ANGL STRUT41 HDG 678136 | 0.420
o 40
rew TH 12x25* + STRUT M12 nut | Py -
* scre 5*+ STRU u ¢ =
*screw TH 12x25 on channel STRUT 41x21 ( v // 3
screw TH 12x35 on channel STRUT 41x41 J S o {2
35 / >/ o
b D
4x 12X25 TH SCREWS ' iy NS
+4x M12 SPRING NUTS | | 1 w /
ke i i
4 Pty s/

STRUT 41 - UNIVERSAL BRACKET - PS 608

W Weight | Th,
p Description Code kg/p mm
I 25 | UNIVERSAL BRACKET STRUT41 HDG 678100 | 0.742 3.00

Jeoeocesoea) 7]
€= = — =

#12,5%20

@125

250 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41X21 ZED - PS 928

Y] Weight
p | Description Code kg/p
I 25 | ZED STRUT 41x21 HDG 678150 | 0.190

STRUT 41X41 ZED - PS 611

N} Weight
p Description Code kg/p -
I 25 | ZED STRUT41x41 HDG 678027 | 0.230

- 47
/
1r
L H
e 14
-
S8

Ix@ 128

40

OMEGA STRUT 41X21 - PS 929

N} Weight
p Description Code kg/p
ITEH 25 | STRUT OMEGA 41x21 HDG 678149 0.250

OMEGA STRUT 41X41 - PS 613

Y] Weight
p | Description Code kg/p
I 25 | OMEGA STRUT41x41 HDG 678046 | 0.380

-
o
(=]
o
o
2
(2]

2023 CATALOGUE | 251



@ NIEDAX SUPPORT | HEAVY DUTY

DOUBLE OMEGA STRUT 41X41 - PS 721

] Weight o
p Description Code kg/p
[MA| 10 | STRUT OMEGA 41x82 HDG 678048 | 0.430 g [

2 o 8 @13
191
STRUT 41 2 ANGLES CONNECTOR - PS 821
N Weight L
p Description Code kg/p
I 10 | 2 ANGLE CONN. STRUT41 HDG 678061 | 0.700
LET 4+
1
- 42 - 44 -
—
H! T A
N L
130
STRUT 41 END CAP
v Weight
p Description Code kg/p
m 50 | END CAP STRUT 41x21 PVC 687385 0.003
‘ 50 | END CAP STRUT 41x41 PVC 687228 0.008

252 | 2023 CATALOGUE




@ NIEDAX SUPPORT | HEAVY DUTY

U 5050 SUPPORTING SYSTEM

For heavy duty applications requiring multi-directional mounting y&
U 5050 CHANNEL B 3
] Weight | H, w o1axio— 1
m | Description Code kg/ml mm mm E
I3 3 | u5050 3M HDG 708338 | 2.400 | 50 50 2 E
\ -
Standard length 3 m a
\[
KTA BRACKET
] Weight | H, L %
p Description Code kg/p mm mm daN ——13x20
I3 20 | KTA 100 HDG 701992 | 0.200 45 110 250
20 | KTA 150 HDG 701993 | 0.250 45 160 250
20 | KTA 200 HDG 705594 | 0.300 55 210 250
20 | KTA 300 HDG 701995 | 0.600 65 310 250
o1
20 | KTA 400 HDG 701997 | 0.800 75 410 250 S Tx40 Y
10 | KTA 500 HDG 701999 | 1.200 90 510 250 .
10 | KTA 600 HDG 702001 | 1.350 90 610 250 |
1 | KTA 700 HDG 702002 | 1.800 | 195 | 730 350
1 | KTA 800 HDG 702003 | 2.000 | 195 | 830 350
1 | KTA 900 HDG 702004 | 2300 | 195 | 930 350
1 | KTA 1000 HDG 702005 | 2.600 | 195 | 1030 | 350
Can also be mounted on M TH Mi2«2t HU 45x30
Rondelle plate @12 STRUT 41x41
a STRUT 41x41 channel " Ecrou raihuré M2 HU 0150

. (Screw M12x25)
¢ packed with bolts (Nut M12 Strut + flat washer @12)

(2xTRCC M6x12
per bracket)

e minimum order
qguantity: 1 box

HDS 45x30
ou
HOS 50x50
Chemin de cébles tole

(Cable tray) Chemin de cbles i

{Mash tray)

HU 5050 HANGERS

] Weight .
Descripti Cod kg/ )
p escription ode 9/p PN op \““‘-\y Deflection in mm
I 1 | HU 5050 200 HDG 708325 | 0.900 <ﬁ >/./ 8
-~
1 | HU 5050 300 HDG 708327 | 1.150 | 130 'F S “I% 7 4
1 | HU 5050 400 HDG 708328 | 1.380 ' ¢ L
! L:,131410-———__E U w0 5
1 | HU 5050 500 HDG 708329 | 1.600 B 0 . - o
1 | HU 5050 600 HDG 708330 | 1.860 T~ 3 -
2 B [] . e P E
1 | HU 5050 700 HDG 706286 | 2.100 - R 0 7 — 3
1
o
1 | HU 5050 800 HDG 708331 | 2.330 B0 ~ = Load in kN =
1 | HU 5050 900 HDG 708332 | 2.560 B ﬂ o e 1 s 2 25 3 3
1 | HU 5050 1000 HDG 708333 | 2.800 U ——HU 5050/1000 + KTA 300
w—=HU 5050/1000 + KTA 400
1 | HU 5050 1100 HDG 708334 | 3.040 N « @B‘Q U 505011000  KTA 500
1 | HU 5050 1200 HDG 708335 | 3.280 N~ :
1 | HU 5050 1500 HDG 708336 | 4.000
1 | HU 5050 2000 HDG 708337 | 5.170
Fy L=300 mm | L=600mm

DAZ12X10 | F max. 2,7 kN |F max. 1,65 kN|

2023 CATALOGUE | 253



@ NIEDAX SUPPORT | HEAVY DUTY

U 5050 SUPPORTING SYSTEM

HDS 5050 SPACER FOR OVERHEAD HANGER

(] Weight ;
p | Description Code kg/p f,.-— J -j
I 50 | HDS 5050 HDG 931705 0.075 I@ J 3
1l
Delivered with bolts j"t 3
F A
i b
K 5050 END CAP
Y] Weight
p Description Code Kg/p
™ 10 | K5050 PVC 703699 3.000 /_,/

U 5050 HEAD PLATES AND CLAMPING DEVICES

KU 5050 HEAD PLATE

N Weight
p Description Code kg/p
I 1 | PDTKU 5050 HDG 702072 | 0.810
Bolts included (2 TRCC M10x25)
KUDP 5050 HEAD PLATE
N} Weight
p Description Code kg/p
I3 1 | PDTKUDP 5050 HDG 702154 | 1.430

Bolts included (2 TRCC M10x25)

For I-beam mounting use 2 HSK clamps and 2 M12 HK 56 T-head bolts

KUGH 5050 HEAD PLATE

W Weight | | Th.
p Description Code kg/p mm mm
I 1 | PDT KUGH 5050 HDG 702088 | 1.810 | 106 6
Bolts included (M10x80 TH bolt + HE)
Variable angle horizontal head plate
KUGP 5050 HEAD PLATE
W Weight | Th,
p Description Code kg/p mm
I3 1 | KUGP 5050 HDG 702159 | 1.970 6

Bolts included (M10x80 TH bolt + HE)

For | Beam mounting use 2xHSK clamps

and 2x56 HK T head bolts M12

254 | 2023 CATALOGUE




@ NIEDAX SUPPORT | HEAVY DUTY

KUGV 5050 HEAD PLATE
W Weight | Th, o 12128
p | Description Code kg/p mm
@ S -

I 1 | PDTKUGV 5050 HDG 702086 | 1.810 | 6 N Y
Bolts included (M70x80 TH bolt + HE) \\é)»‘?’
Variable angle vertical head plate ! 3

H14 ‘H
13660° T, S >

KUDK 5050 DOUBLE HEAD PLATE

] Weight | Th.
p Description Code kg/p mm
I 1 | KUDK 5050 HDG 702150 | 1.840 7

Bolts included
For UPN mounting use 4 HSK clamps and 4 M10 40 HK T-head bolts

KUGPK 5050 DOUBLE HEAD PLATE

Y] Weight | Th,
p Description Code kg/p mm
[ HoG ([ PDT KUGPK 5050 HDG 702161 2.480 7

Includes 2 Hex bolts 10x80 HDG

For mounting on an inclined horizontal support with

a maximum width of 240mm
Position: perpendicular to the support

For UPN mounting use 4 HSK clamps and 4 M10 40 HK T-head bolts
KWAT 45° DOUBLE CLAMPING DEVICE

Y] Weight | | Th.
p Description Code Kg/p mm mm
I 1 | KWAT 300 HDG 708062 | 2.600 | 400 6

Bolts included (7 M10x25 TH bolt + HE)
For UPN mounting use 4 HSK clamps and 4 M10 56 HK T-head bolts

For bracket mounting at 45° on a metal beam for widths
not exceeding 300mm

KWAE CLAMPING DEVICE FOR CONCRETE SUPPORT

(Y] Weight | L Th.
p Description Code kg/p mm mm
I 1 | KWAE 200 HDG 708061 | 1.180 | 300 5
Bolts included (7 M10x25 TRCC bolt)
For bracket mounting at 45°on concrete constructions
=
o
o
a
KKAT CLAMPING DEVICE 7
W Weight | H, L.
p | Description Code kg/p mm mm
I 10 | KKAT 300 HDG 705829 | 1.285 | 198 400

Bolts included (7 M10x25 TRCC bolt)
For UPN mounting use 2 HSK clamps and 2 M10 56 HK T- head bolts

For bracket mounting at 90° on a metal beam
for widths not exceeding 300 mm

2023 CATALOGUE | 255



@ NIEDAX SUPPORT | HEAVY DUTY

HSK BEAM CLAMPS
[ Weight | Th.
p | Description Code kg/p mm
A 50 | HSK 10 HDG 195800 | 0.150 7
50 | HSK 15 HDG 195909 | 0.180 7
50 | HSK 20 HDG 196104 | 0.200 7
50 | HSK 25 HDG 196203 | 0.240 7
50 | HSK 30 HDG 196005 | 0.300 7
50 | HSK 35 HDG 196302 | 0.360 7
50 | HSK 40 HDG 196401 | 0.440 7

Recommended for heavy duty loads on metal beams with
STRUT 41 or UPN channels

HSKS BEAM CLAMPS
W Weight | Th,
p Description Code kg/p mm
I 25 | HSKS.10 HDG 196425 | 0.210 8
25 | HSKS 15 HDG 196432 | 0.250 8
25 | HSKS 20 HDG 196449 | 0.270 8
25 | HSKS 25 HDG 196456 | 0.330 8
25 | HSKS 30 HDG 196463 | 0.410 8
25 | HSKS 35 HDG 196470 | 0.490 8
25 | HSKS 40 HDG 196487 | 0.600 8

Recommended for heavy duty loads on metal beams
with STRUT 41 or UPN channels.

See table below for required nuts & bolts:

CLAMPING
RANGE (MM)

PRODUCT USED
FOR MOUNTING NUTS & BOLTS
e

=

5>9 STRUT41 = 195800 HSK 10 Clamp I3 | Use: M10x30 bolts
10>14 c 195909 HSK 15 Clamp +H or M10 diamond nuts
15>19 196104 HSK 20 Clamp Use: M10x50 bolts
20>24 | 196203 HSK 25 Clamp +H or M10 diamond nuts
UPN 40
25>29 N 196005 HSK 30 Clamp }
30534 U.5050 196302 HSK 35 Clamp Eiie})m%égi:::; 4 it
35>39 196401 HSK 40 Clamp
Z
STRUT 41 e
5>9 ﬁ 196425 HSKS 10 Clamp Use: M12x35 bolts
10>14 v 196432 HSKS 15 Clamp + H or M12 diamond nuts
15>19 196449 HSKS 20 Clamp
20>24 196456 HSKS 25 Clamp
25>29 196463 HSKS 30 Clamp Use: M12x50 bolts
30>34 196470 HSKS 35 Clamp + H or M12 diamond nuts
35>39 196487 HSKS 40 Clamp

* For U.5050 accessories use a HK T-head bolt

256 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

40 HK M10 T HEAD BOLT
.’ﬂ Weight
p Description Code kg/100
I 100 | HK 510/30 HDG 945511 | 4.400
100 | HK 510/50 HDG 945504 | 5.900
50 | HK 510/80 HDG 945535 | 7.700

For mounting of KUDK 5050 and KUGPK 5050 head plates

40 HK M12 T HEAD BOLT
] Weight
p Description Code kg/100
I 100 | HK 512/30 HDG 124251 7.100
50 | HK512/50 HDG 124350 | 8.400
50 | HK 512/80 HDG 945528 | 11.500
56 HK M10 T HEAD BOLT
] Weight
p Description Code kg/100
& 100 | HK 610/30 HDG 709794 | 5.500
50 | HK 610/50 HDG 709747 6.200
50 | HK 610/80 HDG 945481 | 7.600

For mounting of KWAT and KKAT clamping devices

56 HK M12 T HEAD BOLT -

) Weight =

p Description Code kg/100 &

| 100 | HK 612/30 HDG 945474 | 7.400 3
50 | HK 612/40 HDG 124954 | 7.600
50 | HK 612/50 HDG 945467 | 8.300
50 | HK 612/80 HDG 945450 | 13.600

For mounting of KUDP 5050 and KUGP 5050 head plates

2023 CATALOGUE | 257



@ NIEDAX SUPPORT | HEAVY DUTY

PERFORATED I-BEAM 80

.’ﬂ Weight H.
m | Description Code kg/ml mm .
I3 3 |1803MHDG 701912 | 6.000 | 42 ” Lso_ w0 _
| 6 | 1806MHDG 701913 | 6.000 | 42 =
[ B e = ==
B &
g
SKI 80 END CAP FOR I-BEAM
] Weight y
p Description Code kg/p
20 | SKI 80 PE 709267 | 2.000
KTT BRACKETS
] Weight
p Description Code kg/p daN
A 20 | KTT 100 HDG 701914 | 0250 | 250
20 | KTT 150 HDG 701915 | 0.350 250
20 | KTT 200 HDG 701916 | 0.400 250
20 | KTT 300 HDG 701918 | 0.600 250
20 | KTT 400 HDG 701920 | 0.850 250 o on
10 | KTT 500 HDG 701922 | 1.160 250 ;_ if
: F
10 | KTT 600 HDG 701924 | 1.360 250 J —
Supplied fully assembled clamp - 35 w0 50 _25 g
» Packed with bolts (2xTRCC Méx12 per bracket) &I‘E =1
¢ Minimum order quantity: 1 box ’
L L i
KTA BRACKET
W Weight | . L
p Description Code kg/p mm mm daN
[ 20 | KTA 100 HDG 701992 | 0200 | 45 110 | 250
20 | KTA 150 HDG 701993 | 0.250 45 160 250
20 | KTA 200 HDG 705594 | 0.300 55 210 250
20 | KTA 300 HDG 701995 | 0.600 65 310 250 — 7x40
20 | KTA 400 HDG 701997 | 0.800 75 410 250
10 | KTA 500 HDG 701999 | 1.200 90 510 250
10 | KTA 600 HDG 702001 1.350 90 610 250
1 | KTA 700 HDG 702002 | 1.800 | 195 730 350
1 KTA 800 HDG 702003 | 2.000 195 830 350
1 | KTA 900 HDG 702004 | 2.300 | 195 930 350 ~
1 KTA 1000 HDG 702005 | 2.600 195 1030 350 Lo g
Can also be mounted on a STRUT 41x41 channel
Vis TH M12x25

« packed with bolts (2xTRCC Méx12 per bracket)
¢ minimum order quantity: 1 box

HU 45x30

ou
HU 50350
HOS 45x30
ou
HDS 50x50

258 | 2023 CATALOGUE

+ Rondelle plate @12
+ Ecrou rainuré M12

(Nut M12 Strut + flat washer @12)

Chemin de cibles
(Mesh tray)

(Screw M12x25)

Chemin de cébles tdle
(Cable tray)



@ NIEDAX SUPPORT | HEAVY DUTY

I-BEAM 80
HI 80 HANGER
Y] Weight
p | Description Code kg/p
I3 1 | HI80x500 HDG 701883 | 3.600 é._.(‘*
1 HI 80x800 HDG 701886 | 5.400 1
1 | HI80x1000 HDG 701888 | 6.600
1 HI 80x1300 HDG 701891 8.400
1 | HI80x1500 HDG 701893 | 9.600
1 HI 80x2000 HDG 701898 | 12.600
F F
o Deflection in mm
Tt | ®
: 1“4
HH " " ——HI 80/1000 + KTTS 300
1000 [ [} Fges. fo 00 M | L2000 mm » = ——HI 80/1000 + KTTS 600
A DAZ 12X10 | F max. 4,1 kN |F max. 2,75 kN s
) O,J,:I ¢ e
! : 4 ///
; : o
K i o Load in kN
] 1 2 a 4 s [

VBI 80 I-BEAM COUPLER

] Weight
p | Description Code kg/p 200
.37 63 37__ -
| 840 | 2xVBI 80 HDG 702202 | 0.760
Supplied with 4 TRCC M10x25 HDG bolts z F i
Mo M il e I
P -
7
4x TRCC M10x25 + HE
Kl 80 HEAD PLATE
.’ﬂ Weight L.
P Description Code kg/p mm
I3 1 | Ki80HDG 702104 | 1.500 | 200

Supplied with 2 TRCC M10x25 GM bolts

KIGV 80 ADJUSTABLE HEAD PLATE

W Weight | . L.
p Description Code kg/p mm mm
[ HoG ([N KIGV 80 HDG 702113 | 1.560 120 200

Supplied with 2 couplers and 4 TRCC M10x25 HDG bolts

VBIQ 80 HEAVY DUTY COUPLER

] Weight
p | Description Code kg/p '%.:L
A 5 | vBIQ80/140 HDG 709788 | 0.960 4x TH M12x30 + HE o
Supplied with 4 TRCC M10x25 HDG bolts ; ' - L .
o eI
J’ g e @
g Lo 1
17 L 40 14
L 1385 ]

2023 CATALOGUE | 259

-
o
(=]
o
o
2
(2]




@ NIEDAX SUPPORT | HEAVY DUTY

WWI 80 WALL BRACKET
(] Weight
p Description Code kg/p ___Tg; e
I 50 | wwi g0 HDG 702106 | 26.700 | e N [
Supplied with 1 TRCC M12x30 HDG bolts 8 EI E]'\\13 "
L 68 i 40 _I
18 \13x0
I-BEAM CLAMPS AND FIXING ELEMENTS

GRKHV FIXING CLAMP

* 2in 1: for easy mounting of mesh trays on metal beams, horizontally or vertically, from 100 to 300 mm wide
* Allows direct fixing of 150 mm wide mesh tray on <, 30 mm dia. pipes

.” Weight
Description Code Kg/p
Il 1 | GRKHV1736 710626 | 0.368
W Weight
Description Code Kg/p
IE.I 1 GRKHV 173 GC 710729 0.403
(] Weight
Description Code Kg/p
I 1 GRKHV 173 SS304L 710580 0.370
40
 E— | I E
- F2 = = r "
<SS <@ 30 mm \ :;g' (ﬁ? A
T | e 1L i l=
L & Ny, S20mm “_Pour VIS TH 8x35 )

N | 15 ' #24  | ag |ag]
)

g e 173 =

ME
Pour VIS TH 8x35 o
N
. N L
. “ Uy 'L,__.‘L"‘I: | g1

KU 20 —
Tige filetée M8 + 2 Ecrou H M8

(Threaded rod M8 + 2 Nut M8)

Dalle Perforée
(Perforated cable tray)

Chemin de cables fil
(Mesh tray)

260 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

I-BEAM CLAMPS AND FIXING ELEMENTS
I-BEAM FLANGE CLAMP

.’ﬂ Weight H. [']
p | Description Code kg/p mm mm
IEH| 25 | CLAMPPP8 EZ 678302 | 0.080 18 9
25 | CLAMP PP10 EZ 678233 | 0.143 20 1"
25 | CLAMP PP12 EZ 678377 | 0.210 26 13

M 8 (2408)
_M10(2410-2412)

1. Tighten by hand
+ 1/2 turn with spanner

1 2. Tighten by hand
P + 1/8 turn with spanner
L
STRUT 41 BEAM CLAMP
.’ﬂ Weight H.
p | Description Code kg/p mm
I 25 | CLAMP WITH U BOLT STRUT HDG 678229 | 0.340 70
25 | CLAMP WITH U BOLT STRUT HDG 678084 | 0.350 100
25 | CLAMP WITH U BOLT STRUT HDG 678083 | 0.360 140

¢ 5-20 mm clamping range
e Supplied with bolts

41x21 clamp: @8
41x41 and 41x82 clamps: @10

I-BEAM HOOK CLAMP

N} Weight
p Description Code kg/p
T3 25 | HOOK CLAMP 5-20 HDG 678240 | 0.180 Use bolts:
* H 12x50
. . + HU M12
¢ Delivered without bolts + rondelle AZ 12
* 5-20 mm clamping range + H 10x50
« TH M12x50 screw + HE M12 nut 015 OO her
required for mounting i
[=] %
=]
1

STRUT 41 PIPE CLAMPS BAGS (10)

] Weight
u Description Code kg/u
I 5 | CLAMPS UP41 H10 HDG (10P) 205042 | 1.867
5 | CLAMPS UP41 H20 HDG 205043 | 2.088 Diamond nut M12

+ H M12x50 screw
Delivered with:

e @10x50 or @10x70 threaded rod
¢ M10 diamond nut

* M10 nut

Clamping range: h = +/- 5mm

-
o
(=]
o
o
2
(2]

Supplied with :

?10x50 or 70 ROD
+ M10 diamond nut
+ M10 serrated nut

2023 CATALOGUE | 261



@ NIEDAX SUPPORT | HEAVY DUTY

STRUT 41 HOLD DOWN GUIDING CLAMPS

W Weight |  Th, H. L.
p | Description Code kg/p mm mm mm
I 25 | CLAMP STRUT41 H5-15 HDG 678082 | 0.110 6.00 10 60
25 | CLAMP STRUT41 H15-25 HDG 678378 | 0.150 6.00 20 60
25 | CLAMP STRUT41 H25-35 HDG 678238 | 0.178 6.00 40 70

Clamping range: h = +/- 5mm
Fasten with M12 TOPGRIP spring nut and M12x50 hex. head screw

Plage de serrage

HSK BEAM CLAMPS clamping rnge )
W Weight | Th,
p Description Code kg/p mm
m 50 | HSK 10 HDG 195800 0.150 7
50 | HSK 15 HDG 195909 | 0.180 7
50 | HSK 20 HDG 196104 | 0.200 7
50 | HSK 25 HDG 196203 | 0.240 7
50 | HSK 30 HDG 196005 | 0.300 7
50 | HSK 35 HDG 196302 0.360 7
50 | HSK 40 HDG 196401 0.440 7

Recommended for heavy duty loads on metal beams with STRUT 41 or UPN channels

HSKS BEAM CLAMPS

[ Weight | Th,
p Description Code kg/p mm
A 25 | HSKS 10 HDG 196425 | 0.210 8
25 | HSKS 15 HDG 196432 | 0.250 8
25 | HSKS 20 HDG 196449 | 0.270 8
25 | HSKS 25 HDG 196456 | 0.330 8
25 | HSKS 30 HDG 196463 | 0.410 8
25 | HSKS 35 HDG 196470 | 0.490 8
25 | HSKS 40 HDG 196487 | 0.600 8

Recommended for heavy duty loads on metal beamswith STRUT 41 or UPN channels

See table below for required nuts & bolts:

CLAMPING
RANGE (MM) PRODUCT USED
FOR MOUNTING R
5>9 STRUT 41 /& s 195800 HSK 10 Clamp I | Use: M10x30 bolts
10>14 2 195909 HSK 15 Clamp + Hor M10 diamond nuts
15>19 196104 HSK 20 Clamp Use: M10x50 bolts
20>24 196203 HSK 25 Clamp + Hor M10 diamond nuts
25529 UPN 40 ~| 196005 HSK 30 Clamp
30>34 U.5050° 196302 HSK 35 Clamp ot e
35>39 196401 HSK 40 Clamp
5>9 STRUT 41 e 196425 HSKS 10 Clamp i
10>14 o/& 196432 HSKS 15 Clamp fi'eo':":ﬁx;;:g:;d -
15>19 g 196449 HSKS 20 Clamp
20>24 | 196456 HSKS 25 Clamp
25>29 UPN 40 5 196463 HSKS 30 Clamp Use: M12x50 bolts
30>34 U.5050* 196470 HSKS 35 Clamp +H or M12 diamond nuts
35>39 196487 HSKS 40 Clamp

* For U.5050 accessories use a HK T-head bolt

262 | 2023 CATALOGUE



@ NIEDAX SUPPORT | HEAVY DUTY

SL CLAMP
Y] Weight
p | Description Code kg/p
Il 100 | CLAMPSLG 578995 | 0.041
] Weight
p Description Code kg/p
3| 100 | CLAMP SL HDG 579995 | 0.041

SU 35 FASTENER

l" Weight Th.
p Description Code kg/p mm
e
3| 10 | FAST. SU 35 45 HDG 012277 | 1.335 5.00 ]Q

For | or E Beam sizes between 80 and 300 mm
Delivered with bolts and accessories
Suitable for use with SU 35 brackets

T TRCC 1040
i

304
233

@2
"

I-BEAM CLAMP
Y] Weight | Th,
p | Description Code kg/p mm
I 25 | CLAMP IPN H20 HDG 678086 | 0.200 6

-
o
(=]
o
o
2
(2]

2023 CATALOGUE | 263



@ NIEDAX SUPPORT | HEAVY DUTY

Applications for heavy duty supports welded to size

] Weight Th.
m Description Code kg/ml mm 2!
I'!!.! 3 UPN 15x30x15 3M LAC 641006 1.490 4.00
‘ 6 UPN 15x30x15 6M LAC 641001 1.490 4.00
i’! Weight Th.
m | Description Code kg/ml mm
A s UPN 15x30x15 3M HDG 642006 1.638 4.00
‘ 6 UPN 15x30x15 6M HDG 642001 1.638 4.00
PERFORATED UPN 40
] Weight Th. - -
m | Description Code kg/ml mm - < |¢ E— — o — —
™3 3 | UPN 20x40x20 3M LAC 641003 | 2420 | 500 el S8
- - -~ g
\ 6 | UPN 20x40x20 6M LAC 641002 | 2.420 5.00 @;,f;fj ci"’f:’/’
§ Weight | Th, s v 4 - -
m | Description Code kg/ml mm = |> (ff:’ ,i// | r— =
‘ P e S 1050 C > C 1 ?
IE!\ 3 | UPN 20x40x20 3M HDG 642003 | 2.660 5.00 » - . o
= 10x5]
‘ 6 UPN 20x40x20 6M HDG 642002 | 2.660 5.00 N
i H
7Y o moem my | o ) pre e | s =
! H=
PERFORATED UPN 60
.'ﬂ Weight Th. = -
m | Description Code kg/ml mm 0
==l ==l 1
I3 3 | UPN 30x60x30 3M LAC 641007 | 4.220 6.00
‘ 6 | UPN 30x60x30 6M LAC 641004 | 4.220 6.00
.'ﬂ Weight Th. T - " 2
m | Description Code kg/ml mm I(
I3 3 | UPN 30x60x30 3M HDG 642007 | 4.647 6.00
‘ 6 | UPN 30x60x30 6M HDG 642004 | 4.647 6.00 i
PERFORATED UPN 80
i’ﬂ Weight Th.
m | Description Code kg/ml mm ” L i
IE! 3 UPN 45x80x45 3M LAC 641008 | 6.870 6.00 =
‘ 6 UPN 45x80x45 6M LAC 641005 | 6.870 6.00
E -
i’ﬂ Weight Th.
m | Description Code kg/ml mm 2o past oL
|
IE!\ 3 UPN 45x80x45 3M HDG 642008 | 7.557 6.00
‘ 6 UPN 45x80x45 6M HDG 642005 7.557 6.00

264 | 2023 CATALOGUE




